Notice for Appointment of Regular /Rural Retail Outlet Dealerships BPCL proposes to appoint Retail Outlet dealers in the State of Punjab,as per following details :

	BPCL pro	oposes to appoint Reta	il Outlet dealers in the	State of Punjab, as per following	details :									
				Estimated monthly Sales		Type of		um Dimen		Finance to b	e arranged	Mode of	Fixed Fee / Minimum	Security
SI. No	Name of location	Revenue District	Type of RO	Potential #	Category	Site*	M.)/Are	a of the sit	e (in Sq.	by the a		Selection	Bid amount(Rs. In	Deposit(Rs. In
				r oteritiar #		Sitte		M.). *		by the u	ppiicuric	Sciection	Lakh)	Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC									
					SC CC-1						Estimated		i	
					SC PH					Estimated	fund		i	
					ST					working	required		i	
					ST CC-1					capital	for		i	
			Regular / Rural	MS+HSD in KLs	ST PH	CC / DC	C4	Depth	Area	requireme	developm	Draw of Lots /	i	
			Regular / Rurai	MI2+H2D III KEZ	OBC	/ CFS	Frontage	Depth	Area	nt for	ent of	Bidding	i	
					OBC CC-1 OBC PH					operation	infrastruct		i	
					OPEN					of RO(Rs.	ure at		i	
					OPEN CC-1					In Lakh)	RO(Rs. In		i	
					OPEN CC-2						Lakh)		i	
					OPEN PH								i	
1	MITHIN 5 KM OF INDIA GATE ON INDIA GATE GUMANPURA ROAD, AMRITSAR WML	AMRITSAR	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	AMRITSAR WITHIN MUNICIPAL LIMITS MIN 60 FT WIDE ROAD, NOT ON NH/ SH	AMRITSAR	REGULAR	230	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
3	MALL ROAD AND VERKA ROAD, FROM AJNALA ROAD TO VERKA BY PASS , AMRITSAR WML	AMRITSAR	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4	WITHIN 3 KM OF GOLDEN GATE ON GOLDEN GATE TO JALANDHAR ROAD TOWARDS JALANDHAR, WML	AMRITSAR	REGULAR	230	OPEN	CC	30	30	900	32	12	Bidding	30	5
5	DN NH703B (KHALRA BHIKHIWIND ROAD), BETWEEN INTERSECTION OF NH703B AND NH354, KHALRA TO PAK BORDER	TARN TARAN	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
6	BETWEEN VERKA BYPASS AND GUMTALA BYPASS EITHER SIDE-AMRITSAR ATTARI BYPASS	AMRITSAR	REGULAR	170	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
7	ATEHGARH CHURIAN ROAD FROM MALL ROAD JUNCTION TO BYPASS, AMRITSAR WML	AMRITSAR	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
8	BETWEEN WALLAH BYPASS AND GOLDEN GATE EITHER SIDE, AMRITSAR-ATTARI BY PASS, WML	AMRITSAR	REGULAR	160	OPEN	CC	30	30	900	32	12	Bidding	30	5
10	MITHIN 5 KM OF AIRPORT ON AINALA-AMRITSAR ROAD, LHS WHILE GOING FROM AINALA TO AMRITSAR ON AMRITSAR-RAM TIRATH ROAD, AMRITSAR WMI	AMRITSAR AMRITSAR	REGULAR REGULAR	150 150	OPEN OBC	DC DC	35 20	35 20	1225 400	32 32	95 75	Draw of Lots Draw of Lots	15 15	5
	JN AMRITSAR-RAM TIRATH ROAD, AMRITSAR WML NITHIN 5 KM OF WALLAH BYPASS ON AMRITSAR-MEHTA ROAD	AMRITSAR AMRITSAR	REGULAR REGULAR	150 150	OBC	DC	20 35	20 35	400 1225	32 32	75 95	Draw of Lots Draw of Lots	15 15	5
12	BETWEEN GUMTALA BYPASS AND AIRPORT, LHS ON AIRPORT ROAD WHILE GOING FROM GUMTALA BYPASS TO AIRPORT	AMRITSAR AMRITSAR	REGULAR REGULAR	150	SC	CFS	35	35	1225	0	95	Draw of Lots	15	2
	ANDIALA GURU WML. NOT ON NH/SH. ON MIN 60 FT WIDE ROAD	AMRITSAR	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
14	ANDIALA GUNO WINL, NOT ON NIT/SH, ON WIND OF I WIDE NOAD FITWEEN KM STONE 90 TO 91 I HS ON AMRITSAR-PATHANKOT ROAD NH54	AMRITSAR	REGULAR REGULAR	150	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
15	BETWEEN KM 119 TO 124 LHS AMRITSAR TARAN TARAN ROAD NH54	AMRITSAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	SERVICEN MILITATION 124 LIPA MININTANAN ARANA MADA MILIANAN MADA MILIANAN M	GURDASPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	SETWEEN BABA BAKALA MOD AND MEHTA CHOWK ON NH503D . LHS WHILE GOING FROM BABA BAKALA TO MEHTA CHOWK	AMRITSAR	REGULAR	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
18	SETWEEN INDIA GATE AND ATTARI, LHS ON NH3. AMRITSAR-ATTARI ROAD, WHILE GOING FROM AMRITSAR TO ATTARI	AMRITSAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
19	NITHIN 5 KM OF AMRITSAR TOLL PLAZA ON AMRITSAR- JALANDHAR ROAD NH3 LHS	AMRITSAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
20	BETWEEN LITTLE FLOWER CONVENT SCHOOL, DHARIWAL AND BABRI (INCLUDING BABRI) ON NH54 (RHS WHILE MOVING FROM AMRIT	GURDASPUR	REGULAR	151	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	BETWEEN BABA BAKALA MOD AND BEAS RIVER BRIDGE START ON NH3 LHS OF AMRITSAR -JALANDHAR ROAD	AMRITSAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
22	BETWEEN SBJS BHURI WALE PUBLIC SENIOR SECONDARY SCHOOL AND MEHTA CHOWK, RHS WHILE TRAVELLING FROM AMRITSAR TO N	AMRITSAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
23	GURDASPUR (WITHIN MUNICIPAL LIMIT) DISTRICT GURDASPUR (ON MINIMUM 60 FEET ROAD)	GURDASPUR	REGULAR	100	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
		AMRITSAR	REGULAR	280	OBC CC 1	CC	35	35	1225	32	12	Bidding	30	4
25	ROM NALOYIAN CHOWK TO CHOHAL ON NH-3 (ON EITHER SIDE) DISTRICT HOSHIARPUR	HOSHIARPUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	ON LHS, FROM SAID MUBARAK TO SHEIKHPUR (INCLUDING BOTH) ON NH54 DISTRICT GURDASPUR RETWEEN KANDIALA (INCLUDING) AND LITTLE ELOWER CONVENT SCHOOL, DHARIWAL ON NH54 (ON EITHER SIDE)	GURDASPUR GURDASPUR	REGULAR REGULAR	150 150	OPEN OPEN	CC	35 35	35 35	1225	32 32	12	Bidding	30 30	5
28	MITHIN 6 KM OF BABA BUDDHA JI MULTISPECIALLTY HOSPITAL ON NH 354. OML AMRITSAR	AMRITSAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
28	ROM TANDA TO DHOBI GHAT CHOWK, HOSHIARPUR ON NH503A (ON EITHER SIDE)	HOSHIARPUR	REGULAR	150	SC	CFS	35	35	1225	0	95	Draw of Lots	15	4 2
	SETWEEN GOVT COLLEGE CHOWK TO PURHEERAN ON HOSHIARPUR- PHAGWARA ROAD . WML HOSHIARPUR	HOSHIARPUR	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	- 5
31	RETWEEN DHORI GHAT CHOWK TO CHAK SADHU ON NH503A DISTRICT HOSHIARPUR (ON FITHER SIDE OF ROAD)	HOSHIARPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
32	ON EITHER SIDE, FROM BATALA TO DERA BABA NANAK ON BATALA-DERA ROAD, NH503D, GURDASPUR	GURDASPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
33	ROM MUKERIAN TO VILLAGE BISHANPUR ON NH44. HOSHIARPUR (LHS WHILE MOVING FROM MUKERIAN TO BISHANPUR)	HOSHIARPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
34	WITHIN 5 KM FROM ST. JOSEPH'S HOSPITAL, HOSHIARPUR TOWARDS MAHILPUR ON SH24	HOSHIARPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	BETWEEN PURHIRAN TO MEHTIANA ON HOSHIARPUR-PHAGWARA ROAD NH344B (ON EITHER SIDE OF ROAD)	HOSHIARPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
36	BETWEEN NABIPUR AND DERA BABA NANAK (INCLUDING BOTH VILLAGES) ON NH354 (ON EITHER SIDE)	GURDASPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	DN NH44, FROM NH503A INTERSECTION TO ADDA CHOLANG (ON EITHER SIDE) DISTRICT HOSHIARPUR	HOSHIARPUR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
38	ON LADOWALI ROAD, JALANDHAR CITY WITHIN MUNICIPAL LIMITS	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
39	BETWEEN BABRI AND PANIAR (INCLUDING BOTH VILLAGES) ON NH54 (ON EITHER SIDE)	GURDASPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN NASRALA AND HOTEL AMBER RESIDENCY, HOSHIARPUR ON NH-3, ON EITHER SIDE OF ROAD	HOSHIARPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
41	FROM MUKERIA (INCLUDING) TO DASUYA (INCLUDING) ON NH44, DISTRICT HOSHIARPUR (ON EITHER SIDE) ANYWHERE IN HOSHIARPUR CITY (WITHIN MUNICIPAL LIMIT ON MINIMUM 60 FEFT WIDE ROAD) (NOT ON NH/SH)	HOSHIARPUR	REGULAR	150	OPEN	DC DC	35 20	35 20	1225	32 32	95 55	Draw of Lots	15 15	4
	ANYWHERE IN HOSHIARPUR CITY (WITHIN MUNICIPAL LIMIT ON MINIMUM 60 FEET WIDE ROAD) (NOT ON NH/SH) RETWEEN MALSIAN TO NAKODAR RHS. ON MALSIAN TO NAKODAR ROAD (NH-703)	HOSHIARPUR IAI ANDHAR	REGULAR REGULAR	100 160	OBC SC	CFS	20 35	20 35	400 1225	32 0	0	Draw of Lots Draw of Lots	15 0	3
44	BETWEEN MALSIAN TO NAKODAR RHS, ON MALSIAN TO NAKODAR ROAD (NH-703) BETWEEN DASUYA (INCLUDING) TO TANDA (INCLUDING) ON NH44 DISTRICT- HOSHIARPUR (ON EITHER SIDE)	HOSHIARPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	ALANDHAR WML (ROAD FROM SHRI GURU NAVIDASS CHOWK TO POLICE STATION SAANJH KENDRA VIA BABREIK CHOWK)	JALANDHAR	REGULAR	180	OPEN	CC	20	20	400	32	12	Bidding	30	5
	SARHSHANKAR WITHIN MUNICIPAL LIMIT ON MIN 60 FEET ROAD (NOT ON SHANK)	HOSHIARPUR	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
47	ROM CHACHRARI TO PHILLAUR ON NH-44 (OLD NH-1) (RHS), DISTRICT JALANDHAR	JALANDHAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	ALANDHAR WITHIN MUNICIPAL LIMITS (ON LHS MOVING FROM KAPURTHALA CHOWK TOWARDS KAPURTHALA) ON NH-703A	JALANDHAR	REGULAR	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
49	ALANDHAR WML (ON ROAD FROM BABASAHEB AMBEDKAR CIRCLE TO BASTI ADDA CHOWK VIA JYOTI CHOWK)	JALANDHAR	REGULAR	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
50	BETWEEN GOVT COLLEGE CHOWK TO DISTRICT COURT (ON SUTHERI AND COURT ROAD), WML HOSHIARPUR	HOSHIARPUR	REGULAR	100	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4
51	NURMAHAL WML (ON MINIMUM 60 FEET ROAD)	JALANDHAR	REGULAR	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
52 .	ALANDHAR WITHIN MUNICIPAL LIMITS (ON ROAD FROM HOSHIARPUR CHOWK TOWARDS JANDU SINGHA)	JALANDHAR	REGULAR	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	ALANDHAR WITHIN MUNICIPAL LIMITS (ON ROAD FROM RAMA MANDI TO JANDU SINGHA) ON NH3	JALANDHAR	REGULAR	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	ROM GARHDIWALA TO ADDA BHIKHOWAL (INCLUDING BOTH VILLAGES) ON SH24 DIST HOSHIARPUR (ON EITHER SIDE)	HOSHIARPUR	REGULAR	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
55	ALANDHAR WITHIN MUNINIPAL LIMITS(ON EITHER SIDE MOVING FROM NAKODER CHOWK TOWARDS NAKODER) ON NH-703	JALANDHAR	REGULAR	160	OPEN SC	DC	30	30	900	32	75	Draw of Lots	15	5
	BETWEEN KANG SHABU AND KHAJURLA ON RHS WHILE GOING TOWARDS KHAJURLA ON NEW JALANDHAR RING ROAD	JALANDHAR	REGULAR	150		CFS DC	35	35	1225	0	0 75	Draw of Lots	0	3
57	ALANDHAR WML (EITHER SIDE ON ROAD FROM WORKSHOP CHOWK TO SURANUSSI. VIA MAQSUDAN) WML DASUYA ON DASUYA- MIANI ROAD DISTRICT HOSHIAPUR	JALANDHAR HOSHIARPUR	REGULAR REGULAR	150 100	OPEN OBC	DC	20 20	20	400 400	32 32	/5 55	Draw of Lots Draw of Lots	15 15	4
	NML DASUYA ON DASUYA- MIANI KOAD DISI RICI HOSHIAPUR ALANDHAR WITHIN MLINICIPAL LIMITS (ON LHS MOVING FROM PATHANKOT CHOWK TOWARDS BHOGPLIR) ON NH44	HOSHIARPUR IAI ANDHAR	REGULAR REGULAR	100	OBC	DC	30	30	900	32	55 75	Draw of Lots	15	- 4
	BETWEEN KANG SHABU AND KHAJURLA ON LHS MOVING FROM PATHANKOT CHOWK TOWARDS BHOGPUK) ON NH44	JALANDHAR JALANDHAR	REGULAR	150	SC	CFS	35	35	1225	0	/5 0	Draw of Lots Draw of Lots	0	3
61	WML MUKERIAN ON MINIMUM 60 FEET WIDE ROAD (NOT ON NH/SH)	HOSHIARPUR	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	WHI MIDDERIAN ON WHITHIUM BO FEEL WIDE AND INGO TO IN HITJEH) WHI ANDHAR WITHIN MUNICIPAL LIMITS (TRANSPORT NACAR) ON MINIMUM 60 FFFT ROAD	IAI ANDHAR	REGULAR REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	ALANDHAR WIT HIN MONTHEAL LIMITS (TRANSPORT WARDAR) ON MINIMONI OF PEET ROAD AKKODAR WIT (ON MINIMUM GO FEET ROAD) (NOT ON NH/SH)	JALANDHAR	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
64	ALANDHAR WITHIN MUNICIPAL LIMITS (ON RHS MOVING FROM KAPURTHALA CHOWK TOWARDS KAPURTHALA)ON NH-703A	JALANDHAR	REGULAR	200	OBC	CC	30	30	900	32	12	Bidding	30	4
	ALANDHAR WITHIN MUNICIPAL LIMITS (ON MINIMUM 60 FEET ROAD)	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
66 .	ALANDHAR WITHIN MUNICIPAL LIMITS ON 66 FEET ROAD	JALANDHAR	REGULAR	200	OPEN	CC	20	20	400	32	12	Bidding	30	5
67	BETWEEN JALANDHAR TO NAKODAR LHS, ON JALANDHAR TO NAKODAR ROAD NH-703 (OUTSIDE MUNICIPAL LIMITS)	JALANDHAR	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
68	PHILAUR WML (ON MINIMUM 60 FFFT ROAD) (NOT ON NH/SH)	JALANDHAR	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
- 00														
- 00	ON NH-44 (OLD NH-1), RHS GOING FROM JALANDHAR TO LUDHIANA IN DIST. KAPURTHALA	KAPURTHALA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
69 70	ON NH-44 (OLD NH-1), RHS GOING FROM JALANDHAR TO LUDHIANA IN DIST. KAPURTHALA BETWEEN MALSIAN TO SATLUJ BRIDGE ON EITHER SIDE, MALSIAN TO SATLUJ BRIDGE ROAD NH-703 ROM PAP CHOWK JALANDHAR TO JANGE-FAZAD KARTARPUR ON OLD NH-1 (RHS), DISTRICT JALANDHAR	KAPURTHALA JALANDHAR JALANDHAR	REGULAR REGULAR REGULAR	150 150	SC OPEN OPEN	DC DC	35 35	35 35	1225 1225 1225	0 32 32	95 95	Draw of Lots Draw of Lots Draw of Lots	0 15	5

### PART / FACE 1972	SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *		Finance to b	oe arranged pplicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
No. of Control	1	2	3	4	5	6	7		8		9a	9b	10	11	12
1. Applies and Comprise by the proof of				Regular / Rural	MS+HSD in KLs	SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-1 OPEN CC-2		Frontage	Depth	Area	working capital requireme nt for operation of RO(Rs.	fund required for developm ent of infrastruct ure at RO(Rs. In			
Description of the Company of the															5
Company Comp				TILOODIN											4
B. Control						OPEN PH									5
Progress Control Control (1997) Co															4
Description of the Control of the			IO II OITTIMOT												5
Description Company and the process of the proc															3
Description from Authority (1997) 1997															4
B. Control C	81	FROM PATHANKOT CHOWK JALANDHAR TO BHOGPUR ON NH-44 (LHS) (OUTSIDE MUNICIPAL LIMITS)	JALANDHAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1						OPEN								15	5
Description of the company of the						SC								0	3 4
1. P. The St. B. STONIC CONTRIGUENT OF PROPERTY OF STREET, ST. B. STONIC CONTRIGUENT OF STREET, ST. B. STONIC CONTRI															5
B SERIO SERIO DE MERICANE METER TENDO	86	FROM MALIKPUR CHOWK TO LADPALWAN (INCLUDING) ON NH54 (RHS WHILE MOVING FROM PATHANKOT TO AMRITSAR)	PATHANKOT	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
Property															3
December (Company) Company Com															4 5
STATE Company of the product of															5
0.					120		DC	20	20		32		Draw of Lots	15	4
RECORD 100 1															3
SECONDAY OF THE PROPERTY OF															5
SECONDAY AND MARKANES LIGHT AMPROADED (ALT VICE REGIS) CO. C			TOT INTOM	TILOODIN											4
BE						SC			20	400					3
SECTION AND ADDRESS CAMPATINALA. SOCIAL SO															5
The Design of Teach Process of Teach P															5 4
SECURITY CONTROL COLUMNOS, INSTRUCTION, CONTROL COLUMNOS, CARRETTALA, ON INVOICE SECURITY COLUMNOS, CARRETTALA, CA			IO II OITTIMOT	TILOODIN			CFS								3
AST Page P	101	ON NH 5, FROM KHARAR TOWARDS LUDHIANA , (DISTRICT SAS NAGAR)	SAS Nagar	REGULAR		OPEN	DC		35	1225			Draw of Lots		5
SECONDARY CHRISTON SAMOR TO PRESECTION MAD INTERCEDION CONTROL SECONDARY SHOWN AND S															4
105 OHIN 17 FROM MARKER TO ARRECTIVE RECLARACIAN SAN RIGHT RECLARACIAN 100 SC CF 35 35 1275 O O Draw of time O	100	ON HIT 152, THOM ENGLISH ON TO DESCRIBED END					-		33						5
The STREET PROPERTY OF THE P			SAS Nagar												3
100 ON IN 120 CREADABNE MANUAL PROMUE PROFIT IN 15 HOUSE ADMINIST, CITY OF MERCANS) SAN Nager REGULAR 150 OFF. CC 35 35 1225 32 95 Orace of lots 15															4
100 00 SIS (DERABASS) BARMALA RODO) FROM METRICETION OF MR 125 TOWNRDS BARDWALA (DIST AS NACAR) SAC Nagar REQUAR 150 00°C DC 35 35 1225 32 95 Draw of Lots 15 11 01 00°C DC 35 35 1225 32 95 Draw of Lots 15 11 01 00°C DC 35 35 1225 32 95 Draw of Lots 15 11 00°C DC 35 35 1225 32 95 Draw of Lots 15 11 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 95 Draw of Lots 15 00°C DC 35 35 1225 32 21 00°C DC 35 35 1225 32 32 21 00°C DC 35 35 00°C DC 35 00°C DC 35 00°C DC 35 35 00°C DC 35 DC	107			TILOODIN						****			DIGW OF LOC		5
110 FINAL PROPRING COLUMN 150 CORE						OPEN									5
121 ON INPLACE SURPAIL PRESS ETHERS DEE DEPTH OF SERVICE DESTRUCT SER NAGARY SEGULAR 160 OPEN CC. 25 35 35 1225 32 95 OPEN OF LOST 15						OBC									4
131 SANUR MITHIN MINCREPAL LINE (MINIMALMIN DESIGNATION FER 190), ETHER SIDE RIPPIAGAR REGULAR 160 ORC CC 35 35 1225 32 05 Orw of lots 15															5
114 SANDER WITHIN MUNICIPAL LIMIT, (MANIMUM SO PEET WIDE ROAD) 115 ON HIS JOSA FROM MERA BASIS TO LABULULIS JOSA FROM STORE 23 TO 26 (DISTRICT SAS NAGAR) 116 ON HIS JOSA FROM MERA BASIS TO LABULULIS JOSA FROM MERA BASIS AND STORE 23 TO 26 (DISTRICT SAS NAGAR) 117 ON HIS JAMA (RORAR BRYSAL) LIST (VANDES AND SAS AND SAS FROM MERA BASIS AND SA															5 4
15 ON HH 152 FROM DETABLASS TO LARD U LIST ON HE STATE STATE OF STATES AS SAGAR SS NINGER REGULAR 150 OPEN CC 35 35 1225 32 12 Bidding 30															3
131 SUMR JAHA ROPARS PRASS LHS TOWARDS RALACHARI (ROSTRICT ROOP NACAR) RUPNAGGR REGULAR 100 OBC DC 35 35 1225 32 95 Draw of Lots 15			SAS Nagar	REGULAR	160	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1315 WARL RAHUN DISTRICT SER NAGAR (OM MINNULMS OF FET WIDE ROAD & NOT ON NH/SH) 132 PRABAPS WITHIN MUNICIPAL LIMIT, (MINNUMS OF FET WIDE ROAD) 133 PRABAPS WITHIN MUNICIPAL LIMIT, (MINNUMS OF FET WIDE ROAD) 134 SA Nagar 135 REGULAR 130 OPEN 132 OP NAGAR WITHIN MUNICIPAL LIMIT, (MINNUMM 60 FET WIDE ROAD) 135 AS Nagar 136 REGULAR 137 ANYWHERE IN SECTOR 74.75.77.78.79.80. MOHALI WARL ON MINIMUM 60 FET WIDE ROAD 136 AS Nagar 137 ANYWHERE IN SECTOR 74.75.77.77.87.98.0. MOHALI WARL ON MINIMUM 60 FET WIDE ROAD 137 ANYWHERE IN SECTOR 74.75.77.77.87.98.0. MOHALI WARL ON MINIMUM 60 FET WIDE ROAD 138 AS Nagar 139 ANYWHERE IN SECTOR 74.75.67.77.87.98.0. MOHALI WARL ON MINIMUM 60 FET WIDE ROAD 130 AS Nagar 130 AS Nagar 131 ANYWHERE IN SECTOR 74.75.67.77.87.98.0. MOHALI WARL ON MINIMUM 60 FET WIDE ROAD IN SECTOR 1.0 ANY SECTOR 1.0			SAS Nagar												5
139 ZRAKPUR WITHIN MUNICIPAL LIMIT, IMMINUM 60 FEET WIDE ROAD 32 55 Draw of Lots 15															4
1212 ROPP NAGAR WITHIN MUNICIPAL LIMIT, (MINIMUM GO FEET WIDE ROAD) S. P.		(5
121 2 ANYWHER IN SECTOR 74,75,76,77,78,79,80 MOHALI WINL ON BOTECT WIDE ROAD SAN BABBY REGULAR 100 OBC C 20 20 400 32 55 Draw of Lots 15 122 ANYWHER IN SECTOR 74,75,76,77,78,79,80 MOHALI WINL ON MINIMUM 60 FEET WIDE ROAD SAN BABBY REGULAR 100 OPEN CC 20 20 400 32 125 Bidding 30 DRAW SAN			SAS Nagar												5
123 MITHIN S KM FROM BANGA CHOWK, BALACHAUR TOWARDS HOSHIARPUR, ON S142, DISTRICT SBS NAGAR SHAHID BHAGAT SING REGULAR 150 OPEN C2 DC 20 20 400 32 55 Draw of Lots 15			RUPNAGAR												4
124 NAWAMSHAHR WILL ON MINIMUM 60 FEET WIDE ROAD (NOT ON NH/SH), DISTRICT SIS NAGAR SHAHID BHAGAT SING REGULAR 100 OPEN C2 C0 20 20 400 32 55 Draw of Lots 15															5
126 FROM BEHRAM TO NAMASHARI (INCLUDING BOTH) ON N1344A, BHS WHILE MOVING FROM PHAGWARA TO NAWASHARIR SHAHID BHAGAT SING REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15								20	20			55			5
127 WITHIN 4 KM OF AIANTA PUBLIC SCHOOL DAYALPUR ON NH703 B, BHIRHIWIND-PATTI HARIKE ROAD TARN TARAN REGULAR 150 SC CFS 35 35 1225 0 0 0 Draw of Lots OBC DC 35 35 1225 0 0 Draw of Lots 15 Draw of Lots 16 Draw of Lots 16 Draw of Lots 17 Draw of Lots 18 Draw Later 18 Draw La															4
128 ON NH JOSA FROM SWI 12A INTERSECTION TO KM STONE 20, LHS 129 ON RHS, FROM NAWASHAHR TO BALACHAUR (INCLUDING BOTH) ON NH344A DISTRICT SBS NAGAR 39 HAND BHAGAT SING REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15 131 ON NH JOSA FROM KM STONE 20 TO KM STONE 27 (LHS) (DISTRICT SAS NAGAR) 131 ON NH JOSA FROM KM STONE 20 TO KM STONE 27 (LHS) (DISTRICT SAS NAGAR) 132 ARWYHERE IN PARTIT WALL EXCEPT ON PARTIT-HARARA TRANSA-KHEMKARARA MADAD, MIN 60 FT WIDE ROAD 133 BETWEEN KM STONE 134 TO 142 LHS TARAN TARAN ARAMALE ALL STANDARD AND AND AND AND AND AND AND AND AND AN															5
129 ON RIS. FROM NAWASHAR TO BALACHAUR (INCLIDING BOTH) ON NH344A DISTRICT SES NAGAR SHAHID BHAGAT SING BEGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15															4
1310 ON HO 12A WITHIN 3 KM OF INTERSCRING WITH 8 KM STONE 27 LOS NO HAGAN READ NAMESHAR SHAHID BHAGAT SING REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15	110	ON RHS, FROM NAWASHAHR TO BALACHAUR (INCLUDING BOTH) ON NH344A DISTRICT SBS NAGAR	SHAHID BHAGAT SING	REGULAR	150	OPEN	DC	35	35	1225	32	95		15	5
132 APYWHERE IN PATTI WALL EXCEPT ON PATTI-TARAN TARAN-KHEMKARAN ROAD, MIN 60 FT WIDE ROAD TARN TARAN REGULAR 100 SC CFS 20 20 400 0 0 Draw of Lots 0		FROM BEHRAM TO NAWASHAHR (INCLUDING BOTH) ON NH344A, LHS WHILE MOVING FROM PHAGWARA TO NAWASHAHR		REGULAR	150	OPEN		35	35	1225	32	95		15	5
133 BETWEEN MA STONE 134 TO 142 LIST TARAN TAZBULA ROAD NISS 134 WITHIN 3 KM OF GURUDWARA BABB BIR SINGH I SHAHEED ON KHEMKARAN BHADWAL ROAD 135 OLS HI LZA WITHIN 8 KM OF INTERSECTION WITH HA 126A TOWARDS FATEHGARH SAHIB (DIST, SAS NAGAR) 136 OLS HI LZA WITHIN 8 KM OF INTERSECTION WITH HA 126A TOWARDS FATEHGARH SAHIB (DIST, SAS NAGAR) 137 TARAN TARAN REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15 138 OLS HI LZA WITHIN 8 KM OF INTERSECTION WITH HA 126A TOWARDS FATEHGARH SAHIB (DIST, SAS NAGAR) 139 TARAN TARAN REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15 131 TARAN TARAN REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15 131 TARAN TARAN REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15 132 TARAN TARAN REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15 133 TARAN															4
134 WITHIN 3 KM OF GURUDWARA BBAB RIS SINGH JI SHAHEED ON KHEMKARAN BHAOWAL ROAD TARN TARAN REGULAR 150 OPEN DC 35 35 1225 32 95 Draw of Lots 15															5
136 TARAN TARAN CITY, WML, MIN 60 FT WIDE ROAD, NOT ON NH/SH TARN TARAN REGULAR 100 SC CFS 20 20 400 0 0 Draw of Lots 0 137 TARAN TARAN PREGULAR 100 OPEN DC 20 20 400 32 55 Draw of Lots 15 138 ANYWHERE IN SECTOR 66,67,68,69,70, 172,727, MOHALI WML ON MINIMUM 60 FEET WIDE ROAD. SAS Nagar REGULAR 160 OPEN CC 1 DC 20 20 400 32 55 Draw of Lots 15 139 ON NH 152 FROM DERA BASSI TO LAIRU (RHS) ON NH 152, BETWEEN KM STONE 23 TO 26 (DISTRICT SAS NAGAR) SAS Nagar REGULAR 160 OBC DC 35 35 35 1225 32 95 Draw of Lots 15 141 ANYWHERE IN SECTOR 65,75,85,59,60,61,62,63,64,65,65A,MOHALI WML, MINIMUM 60 FEET WIDE ROAD SAS Nagar REGULAR 100 SC CFS 20 20 400 0 0 Draw of Lots 15 142 ANYWHERE IN SECTOR 53,54,55,56,57,58,59,60,61,62,63,64,65,65A,MOHALI WML, MINIMUM 60 FEET WIDE ROAD SAS Nagar REGULAR 160 OPEN CC 20 20 400 32 12 Bidding 30 142 AINNALA WML, MOT ON NH/SH, MIN 60 FT WIDE ROAD AMMITSAR REGULAR 100 OPEN DC 30 32 55 Draw of Lots 15 143 WILLAGE MULE CHAK, ANANTSAR		WITHIN 3 KM OF GURUDWARA BABA BIR SINGH JI SHAHEED ON KHEMKARAN BHAOWAL ROAD													5
137 TARAN TARAN-PATTI-HEMMARAR POAD WMIL PATTI 138 ANYWHER IN SECTOR 66,67,68,69,70,71,27,33, MOHALI WML ON MINIMUM 60 FEET WIDE ROAD. 138 ANYWHER IN SECTOR 66,67,68,69,70,71,27,33, MOHALI WML ON MINIMUM 60 FEET WIDE ROAD. 139 ON NH 152 FROM BERBA BASSI TO LARLY (1R15) ON NH 152, BETWEEN KM STONE 23 TO 26 (DISTRICT SAS NAGAR) 140 WITHIN 3 KM OT ARRAN TARAN CITY GATE ON, TARAN TARAN CHABAL ROAD, WML 141 ANYWHER IN SECTORS 29,59,65,61,52,65,59,59,60,61,62,63,64,65,65A,MOHALI WML, MINIMUM 60 FEET WIDE ROAD 142 ANYWHER IN SECTORS 29,59,65,195,59,65,195,59,60,61,62,63,64,65,65A,MOHALI WML, MINIMUM 60 FEET WIDE ROAD 143 ANNAL WML, NOT ON NH/SH, MIN 60 FT WIDE ROAD 144 ANNAL WML, NOT ON NH/SH, MIN 60 FT WIDE ROAD 145 ANNAL WML, NOT ON NH/SH, MIN 60 FT WIDE ROAD 146 ANNITSAR 150 OPEN DC 20 20 400 32 55 Draw of Lots 150 Draw of Lots 150 Draw of Lots 151 Draw of Lots 151 Draw of Lots 152 Draw of Lots 153 Draw of Lots 154 Draw of Lots 155 Draw of Lots 155 Draw of Lots 156 Draw of Lots 157 Draw of Lots 158 Draw of Lots 159 Draw of Lots 150 Draw of Lots 150 Draw of Lots 150 Draw of Lots 151 Draw of Lots 151 Draw of Lots 151 Draw of Lots 152 Draw of Lots 153 Draw of Lots 154 Draw of Lots 155 Draw of Lots 155 Draw of Lots 157 Draw of Lots 158 Draw of Lots 159 Draw of Lots 159 Draw of Lots 150															4
138 ANYWHERE IN SECTOR 66,67,68,69,70, 71,72,73, MOHALI WML ON MINIMUM 60 FEET WIDE ROAD. SAS Nagar REGULAR 160 OPEN CC1 DC 20 400 32 55 Draw of Lots 15 139 ON NH 152 FROM DERA BASSI TO LAURU (RHS) ON NN 152, BETWEEN KM STONE 23 TO 26 (DISTRICT SAS NAGAR) SAS Nagar REGULAR 160 OBC DC 35 35 1225 32 95 Draw of Lots 15 140 WITHIN TARAN CITY GATE ON, TARAN TARANA CHABAR LROAD, WML TARN TARAN REGULAR 100 SC CFS 20 400 0 0 Draw of Lots 15 141 JAHYWHERE IN SECTORS3,54,55,55,758,59,60,61,62,63,64,65,65A,MOHALI WML, MINIMUM 60 FEET WIDE ROAD SAS Nagar REGULAR 160 OPEN CC 20 20 400 0 D TAW of Lots 15 142 JAINALA WML, NOT ON NIYSH, MIN 60 FT WIDE ROAD ARRITSAR REGULAR 100 OPEN CC 20 20 400 32 12 Bidding 30 142 JAINALA WML, NOT ON NIYSH, MIN 60 FT WIDE ROAD ARRITSAR															3
139 ON NH 152 FROM DERA BASSI TO LAIRU (RHS) ON NH 152, BETWEEN KM STONE 23 TO 26 (DISTRICT SAS NAGAR) SAS Nagar REGULAR 160			17 11 11 4 17 11 9 11 4												5
140 WITHIN 3 KM OF TARAN TARAN CITY GATE ON, TARAN TARAN CHABAL ROAD, WML TARN TARAN REGULAR 100 SC CFS 20 20 400 0 D Draw of Lots 0 141 ANYWHER: IN SECTORS 35,45,55,55,75,85,99,60,61,62,63,64,65,65A,MOHALI WML, MINIMUM 60 FEET WIDE ROAD SAS Nagar REGULAR 160 OPEN CC 20 20 400 32 12 Bidding 30 142 JANALA WML, NOT ON NH/SH, MIN 60 FT WIDE ROAD AMRITSAR REGULAR 100 OPEN DC 20 400 32 55 Draw of Lots 15 143 WILLAGE MULE CHAK, ANARITSAR DC 35 35 1225 16 35 Draw of Lots 5	139	ON NH 152 FROM DERA BASSI TO LALRU (RHS) ON NH 152 , BETWEEN KM STONE 23 TO 26 (DISTRICT SAS NAGAR)	SAS Nagar	REGULAR			DC								4
142 AINALA WML, NOT ON NH/SH, MIN 60 FT WIDE ROAD AMRITSAR REGULAR 100 OPEN DC 20 20 400 32 55 Draw of Lots 15 143 VILLAGE MULE CHAK, AMRITSAR RURAL 70 OPEN DC 35 35 1225 16 35 Draw of Lots 5			TARN TARAN												3
143 VILLAGE MULE CHAK, AMRITSAR RURAL 70 OPEN DC 35 35 1225 16 35 Draw of Lots 5				TILOODIN											5
														5	4
144 WITHIN 3 KM OF LOYONE POLICE THANA ON KAMTIKATH LOYONE KOAD AMKITSAK KUKAL /5 OBC CC 35 35 1225 16 6 Bidding 10			AMRITSAR	RURAL	75	OBC	CC	35	35	1225	16	6	Bidding	10	3

Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimens ea of the site M.). *			pe arranged	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
		AMRITSAR	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
146		AMRITSAR	RURAL	85	OPEN OPEN	DC CC	35 35	35 35	1225	16	35	Draw of Lots Bidding	5	4
147	ON PR-7 ROAD WITHIN 5 KM FROM INTERSECTION WITH NH 5 TOWARDS NEW CHANDIGARH , LHS (DIST SAS NAGAR) VILLAGE WADAL JOHAL DISTRICT : AMRITSAR	SAS Nagar AMRITSAR	RURAL	150 120	OPEN	DC	35	35	1225 1225	16 16	6 35	Draw of Lots	10	4
		AMRITSAR	RURAL	40	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
150		AMRITSAR	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
151		AMRITSAR	RURAL	95	OPEN	CC	35	35	1225	16	6	Bidding	10	4
152 153	FROM PATHRALA TO KOT FATUHI ON MAHILPUR-PHAGWARA ROAD DIST HOSHIARPUR WITHIN 5 KM OF GURUDWARA SHAHEED BABA NODH SINGH JI ON OLD AMRITSAR-TARAN TARAN ROAD. IN AMRITSAR DISTRICT ONLY	HOSHIARPUR AMRITSAR	RURAL RURAL	60 100	OBC OPEN	DC CC	35 35	35 35	1225 1225	16 16	35 6	Draw of Lots Bidding	5 10	3 4
	VILLAGE ADLIWAL DISTRICT AMRITSAR	AMRITSAR	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
155	WITHIN 5 KM RADIUS OF BATALA RAILWAY JUNCTION ON MIN. 60 FEET ROAD, (OML & NOT ON NH/SH)	GURDASPUR	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
156	WITHIN 3 KM RADIUS OF SD COLLEGE, FATEHGARH CHURIAN ON MINIMUM 60 FEET ROAD, (OML)	GURDASPUR	RURAL	60 60	OPEN CC 1 OPEN	DC DC	35 35	35 35	1225	16 16	35 35	Draw of Lots	5	4
	ON EITHER SIDE, FROM DHARIWAL TO BUCHE NANGAL (INCLUDING BOTH) ON DHARIWAL-KALANAUR ROAD, GURDASPUR VILLAGE TANDA ON GURDASPUR-MUKERIAN ROAD. RHS WHILE MOVING FROM GURDASPUR TO MUKERIAN DISTRICT GURDASPUR	GURDASPUR GURDASPUR	RURAL	60	OPEN SC	CES	35	35 35	1225	16	35	Draw of Lots	5	4
159	WITHIN 4 KMS FROM KHICHIAN TOWARDS GURDASPUR ON MUKERIAN-GURDASPUR ROAD (ON EITHER SIDE), HOSHIARPUR	HOSHIARPUR	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
160	FROM NAUSHERA TO GURDASPUR (INCLUDING BOTH) ON DORANGLA/TRIMMU ROAD, GURDASPUR (ON EITHER SIDE)	GURDASPUR	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
161	FROM GURDASPUR TO KAHNUWAL RD ON SHRI HARGOBINDPUR-GURDASPUR ROAD ON EITHER SIDE	GURDASPUR	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	WITHIN 5 KM RADIUS OF GURDASPUR RAILWAY STATION ON MIN. 60 FEET ROAD, GURDASPUR OML AND NOT ON NH/SH FROM HAJIPUR TO CHANAUR (INCLUDING BOTH VILLAGES). DISTRICT HOSHIARPUR (ON EITHER SIDE)	GURDASPUR HOSHIARPUR	RURAL	60	SC	CFS DC	35 35	35 35	1225	0 16	35	Draw of Lots	0	2
164	FROM DADIAN CHOWK TO HARCHOWAL VIA BASRAI ON DADIAN-HARCHOWAL ROAD, GURDASPUR (ON EITHER SIDE)	GURDASPUR	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	WITHIN 5 KM RADIUS OF DHARIWAL RAILWAY STATION ON MIN. 60 FEET ROAD, (OML AND NOT ON NH/SH)	GURDASPUR	RURAL	60	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
166	VILLAGE MURIDWAL, TEHSIL SHAHKOT ON MURIDWAL TO KASUPUR ROAD	JALANDHAR	RURAL	60	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
	WITHIN 6 KM FROM HARIANA ON DHOLWAHA-JANAURI ROAD TOWARDS JANAURI, DISTRICT HOSHIARPUR	HOSHIARPUR	RURAL	70	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2 4
168	FROM QADIAN CHOWK TO KOT TODDER MAL ADDA ON QADIAN ROAD (ON EITHER SIDE) BETWEEN HAJIPUR TO TALWARA (OUTSIDE MUNICIPAL LIMIT) ON MUKERIAN-TALWARA ROAD (ON EITHER SIDE)	GURDASPUR HOSHIARPUR	RURAL RURAL	60	OPEN OPEN	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
170		JALANDHAR	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
		JALANDHAR	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	ANYWHERE ON PHILLAUR TO TALWAN ROAD (OUTSIDE MUNICIPAL LIMIT PHILLAUR), DISTRICT JALANDHAR	JALANDHAR	RURAL	65	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
173	ANYWHERE ON NURMAHAL TO PHILLAUR ROAD (ON MDR 48), DISTRICT JALANDHAR BETWEEN SULTANPUR LODHI AND DEPEWAL ON RHS WHILE GOING TOWARDS DEPEWAL	JALANDHAR KAPURTHALA	RURAL RURAL	60 70	OPEN OBC	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
		IAI ANDHAR	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
176	ANYWHERE ON PHAGWARA TO MUKANDPUR ROAD, DISTRICT JALANDHAR	JALANDHAR	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
177	ANYWHERE BETWEEN KISHANGARH TO KARTARPUR ON ALAWALPUR-KARTARPUR ROAD, DISTRICT JALANDHAR	JALANDHAR	RURAL	65	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
178		KAPURTHALA IAI ANDHAR	RURAL	60 65	OBC OPEN CC 1	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	3 4
180		IAI ANDHAR	RURAL	65	SC:	CES	35	35	1225	0	0	Draw of Lots	0	2
181	FROM JUGIAL (INCLUDING) TO KHANPUR CHOWK ON JUGIAL ROAD (ON EITHER SIDE) DISTRICT PATHANKOT	PATHANKOT	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
182	ANYWHERE ON ATHOULA TO PARTAPPURA ROAD VIA NIJHRAN, DISTRICT JALANDHAR	JALANDHAR	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
		KAPURTHALA PATHANKOT	RURAL	70 80	OPEN OBC	CC	35 35	35 35	1225	16 16	6 35	Bidding Draw of Lots	10	4
185	ANYWHERE BETWEEN NAKODAR TO SATLUJ BRIDGE ON NAKODAR-JAGRAON ROAD (OUTSIDE MUNICIPAL LIMITS)	JALANDHAR	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
		KAPURTHALA	RURAL	55	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
		KAPURTHALA	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
188		SAS Nagar	RURAL RURAL	225 60	OBC SC	CC	35 35	35 35	1225 1225	16 0	6	Bidding Draw of Lots	10	3
189	FROM TARAGARH TO PAKHO CHAK VIA BEGOWAL ON DINANGAR-NAROT JAIMAL SINGH ROAD DISTRICT PATHANKOT ON KURALI -MORINDA ROAD FROM INTERSECTION OF KURALI CHANDIGARH ROAD TO INTERSECTION OF KURALI BYPASS ROAD (OUTSID	PATHANKOT SAS Nagar	RURAL	100	OPEN	CC	35	35	1225	16	6	Bidding	10	4
191	WITHIN 12 KM OF INTERSECTION WITH NH205 ON KURALI CHANDIGARH ROAD LHS TOWARDS CHANDIGARH	SAS Nagar	RURAL	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
		AMRITSAR	RURAL	85	OBC PH	CC	35	35	1225	16	6	Bidding	10	3
193	FROM NAWASHAHR OML TO ALLACHAUR ON NAWASHAHR-GARHSHANKAR ROAD DISTRICT SBS NAGAR ON PR-7 (INTERNATIONAL AIRPORT ROAD) WITHIN 5 KM OF INTERSECTION WITH NH 5 TOWARDS AIRPORT (DIST SAS NAGAR)	SHAHID BHAGAT SING SAS Nagar	RURAL RURAL	60 200	SC PH OPEN	CFS	35 35	35 35	1225 1225	0 16	6	Draw of Lots Bidding	0 10	2
194	ON KURALI CHANDIGARH ROAD FROM INTERSECTION OF DAKSHIN MARG TO INTERSECTION OF CHANDIGARH BADDI ROAD , EITHER SID	SAS Nagar	RURAL	100	OPEN	CC	35	35	1225	16	6	Bidding	10	4
196	VILLAGE :KOT MOHAMMAD KHAN, TARAN TARAN	TARN TARAN	RURAL	65	OBC	CC	35	35	1225	16	6	Bidding	10	3
197	ON IT CITY ROAD FROM INTERSECTION OF NH 205A TO AEROCITY ROAD , EITHER SIDE (DISTRICT SAS NAGAR)	SAS Nagar	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
198	WITHIN 5 KM OF RADHA SOAMI SASTSANG BHAVAN CHABAL ON CHABAL-TARAN TARAN ROAD PATTI OUTSIDE MUNICIPAL LIMITS ON PATTI-TARAN TARAN ROAD	TARN TARAN TARN TARAN	RURAL	80 100	SC OPEN	CFS	35 35	35 35	1225	0 16	0	Draw of Lots Bidding	0	2
200		TARN TARAN	RURAL	70	OBC	CC	35	35	1225	16	6	Bidding	10	3
201	VILLAGE JALALABAD PURBI, TEHSIL- DHARAMKOT, DISTRICT MOGA	MOGA	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
202	VILLAGE : WARING KHERA, TEHSIL MALOUT	SHRI MUKTSAR SAHIB	RURAL	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
203	VILLAGE SALEM SHAH TEHSIL FAZILKA VILL: RAMSARA, RLOCK-AROHAR, TEHSIL AROHAR	FAZILKA FAZILKA	RURAL	70 80	OBC OPEN	DC CC	35 35	35 35	1225 1225	16 16	35 6	Draw of Lots Bidding	5 10	3 4
		FAZILKA	RURAL	55	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
206	VILL. GUMJAL BLOCK KHUIAN SARWAR, ON PANNIWALA MAHLA ROAD B/W NH62 &Â RO-SHRI SHYAM FILLING STATION	FAZILKA	RURAL	220	OBC	CC	35	35	1225	16	6	Bidding	10	3
		FAZILKA	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
		FAZILKA BATHINDA	RURAL	60 70	OPEN OPEN	CC DC	35 35	35 35	1225	16 16	6 35	Bidding Draw of Lots	10	4
		FAZILKA	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
211	VILLAGE: MAUJGARH, ON DALMIR KHERA-MAUJGARH ROAD, BLOCK-KHUIAN SARWAR, TEHSIL-ABOHAR	FAZILKA	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
212		FAZILKA	RURAL	220	OPEN OPEN	CC	35	35	1225	16	6	Bidding	10	4
		FAZII KA	RURAI	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
213		ΕΔ7ΙΙ ΚΔ	RURAL	150	OPEN	DC	35	35	1225	16	35	Draw of Lots	Ε,	4
213 214 215	VILL.GUMJAL, TEHSIL ABOHAR, ROAD B/W NH62(CHAINAGE-30.110, RHS ABOHAR-SRI GANGANAGAR) TILL RAJASTHAN VILLAGE CHAOKE,TEHSIL RAMPURA PHUL ON AKLIA RAR LINK ROAD	FAZILKA BATHINDA	RURAL	150 80	OBC CC 1	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5 5	3
213 214 215 216	VILL.GUMJJAL, TEHSIL ABOHAR, ROAD B/W NH62(CHAINAGE-30.110, RHS ABOHAR-SRI GANGANAGAR) TILL RAJASTHAN VILLAGE CHAOKE, TEHSIL RAMPURA PHUL ON AKLIA RAR LINK ROAD FARIDKOT (OML), ON FARIDKOT, SADIQ ROAD		HOTEL		OLEM								5 5 0	

Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimens of the sit M.). *			oe arranged pplicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS		Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
218	VILLAGE BARGARI, TEHSIL JAITU, ON BARGARI TO BURJ JAWAHAR SINGH WALA ROAD ON VILLAGE GUMIAL. TEHSIL AROHAR, FROM M/S SHRI SHYAM FILLING STATION (HPCL RO) TO PANNIWALA MAHLA	FARIDKOT FAZILKA	RURAL	80 180	OBC	DC DC	35 35	35 35	1225	16 16	35 35	Draw of Lots	5	3
219	VILLAGE KANDUKHERA, BLOCK-LAMBI, TEHSIL-MALOUT.	SHRI MUKTSAR SAHIB	RURAL	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
221	VILLAGE BURJ SIDHWAN IN BURJA -MALOUT ROAD, TEHSIL - MALOUT	SHRI MUKTSAR SAHIB	RURAL	65	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
222	VILLAGE DHANA SHAHID, ON TALWANDI BHAI KHOSA DAL SINGH ROAD, TEHSIL ZIRA, DISTRICT FEROZEPUR VILLAGE RATTA KHERA. TEHSIL JALALABAD	FEROZEPUR FAZILKA	RURAL	40 80	OBC	DC	35 35	35 35	1225	16 16	35 6	Draw of Lots Bidding	5 10	3 4
223	VILL: HUSNAR, TEHSIL GIDDERBAHA , SHRI MUKTSAR SAHIB	SHRI MUKTSAR SAHIB	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
225	VILLAGE WARYAM KHERA, TEHSIL ABOHAR	FAZILKA	RURAL	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
226	VILLAGE GINIWALA, TEHSIL FEROZEPUR, DISTRICT FEROZEPUR	FEROZEPUR	RURAL	60	OBC	DC	35 35	35	1225	16	35	Draw of Lots	5	3
227	VILL PANIWALA FATTA ON FAZILKA-MALOUT ROAD ON VILLAGE RAUKE KALAN, ON BADHNI KALAN RAUKE LINK ROAD, TEHSIL BADHNI KALAN, DISTRICT MOGA	SHRI MUKTSAR SAHIB MOGA	RURAL	85 100	OPEN CC 1	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
229	VILLAGE RAMPURA, TEHSIL RAMPURA ON KOTRA KORIAN WALA ROAD	BATHINDA	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
230	VILLAGE MEHMA SARIA, TEHSIL GONIANA MANDI, ON SIVIAN NATHIANA ROAD	BATHINDA	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
231	VILLAGE-ODIAN, TEHSIL-FAZILKA VILLAGE ALLI PLIR. TEHSIL ZIRA. DISTRICT FEROZEPLIR	FAZILKA FEROZEPLIR	RURAL	65 50	OPEN OPEN	DC DC	35 35	35 35	1225 1225	16	35 35	Draw of Lots Draw of Lots	5	4 4
232	VILLAGE THULIWAL, TEHSIL ZIKA, DISTRICT FEROZEPUR VILLAGE THULIWAL, TEHSIL MEHAL KALAN, DISTRICT BARNALA	BARNALA	RURAL	70	OBC	DC	35	35	1225	16 16	35	Draw of Lots Draw of Lots	5	3
234	ON VILLAGE RANSIH KALAN, ON NANGAL RANSIH KALAN LINK ROAD , TEHSIL NIHAL SINGH WALA, DISTRICT MOGA	MOGA	RURAL	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
235		MOGA MOGA	RURAL	75 60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4 4
236 237	VILLAGE WANDER 1, TEHSIL BAGHAPURANA (SAMALSAR), DISTRICT MOGA VILLAGE CHUGHA KALAN. TEHSIL-BATHINDA	MOGA BATHINDA	RURAL	60 70	OPEN OBC	DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
238	ON VILLAGE TAJOKE, ON TAPA - TAJO KE- PAKHO ROAD, DISTRICT BARNALA	BARNALA	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
239	ON VILLAGE KAMAL WALA, TEHSIL MALANWALA, DISTRICT FEROZEPUR	FEROZEPUR	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
240 241		FEROZEPUR	RURAL	95 95	OPEN OBC	DC DC	35 35	35 35	1225 1225	16	35 35	Draw of Lots Draw of Lots	5	4
241	VILLAGE KHUDI KALAN, TEHSIL BARNALA, DISTRICT BARNALA VILLAGE LEHRA MOHABAT. TEHSIL- BATHINDA	BARNALA BATHINDA	RURAL RURAL	70	SC	CFS	35	35	1225	16	0	Draw of Lots	0	2
	VILLAGE MAUR NABHA B, TEHSIL TAPPA, ON TAPA-PAKHO KAICHIAN ROAD, DISTRICT BARNALA	BARNALA	RURAL	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	VILLAGE BHUNDER, TEHSIL SARDULGARH	MANSA MOGA	RURAL	80 75	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
245 246	VILLAGE RAUNTA 2, TEHSIL NIHALSINGH WALA, DISTRICT MOGA VILLAGE SEKHA KALAN, ON SAMALSAR SEKHA KALAN ROAD, DISTRICT: MOGA	MOGA	RURAL	60	OPEN	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
247	VILLAGE JANDANWALA, TEHSIL BATHINDA, ON NATHANA HARRAIPUR ROAD	BATHINDA	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	VILLAGE: PATTI AMRA URF PATTI SADIQ, TEHSIL ABOHAR	FAZILKA	RURAL	200	OBC	CC	35	35	1225	16	6	Bidding	10	3
249 250	VILLAGE KULANA, TEHSIL- BUDHLADA, ON BUDHLADA-KULANA ROAD VILLAGE GATWALI. TEHSIL-TALWANDI SABO	MANSA BATHINDA	RURAL	85 80	OPEN OPEN	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
251		FAZILKA	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	VILLAGE CHAK ALISHER, TEHSIL-BUDHLADA	MANSA	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
253	VILLAGE- FARIDKOT-3, TEHSIL & DIST FARIDKOT, ON FARIDKOT- KOT KAPURA ROAD VILLAGE KHAIRA KHURD, TEHSIL SARDULGARH	FARIDKOT MANSA	RURAL RURAL	90 90	OPEN OPEN CC 1	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
255	VILLAGE: ABUL KHURANA, TEHSIL MALOUT	SHRI MUKTSAR SAHIB		75	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	VILLAGE JHANDA KHURD, TEHSIL SARDULGARH	MANSA	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
257 258	VILLAGE: CHAK ROHI WALA, TEHSIL JALALABAD MOGA WML ON SH 16. DISTRICT MOGA	FAZILKA MOGA	RURAL REGULAR	65 120	OPEN OPEN	DC DC	35 20	35 20	1225 400	16 32	35 75	Draw of Lots Draw of Lots	5 15	4
258		FAZILKA	REGULAR	230	OBC	CC	35	35	1225	32	12	Bidding	30	4
260	VILLAGE CHAK KHARAK SINGH WALA URF DOOMWALI ON DABWALI BYPASS,NH9, (RHS,TOWARDS HARYANA BORDER)	BATHINDA	REGULAR	530	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
261		MOGA MOGA	REGULAR REGULAR	160 165	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
262 263	ON NH 95 (NEW NH 5), FROM KM STONE 138 TO KM STONE 126 (LHS, FROM MOGA TO LUDHIANA), DISTRICT MOGA MOGA CITY WML, DISTRICT MOGA	MOGA MOGA	REGULAR	110	OPEN	DC	20	20	400	32	95 55	Draw of Lots Draw of Lots	15	4
264	ON NH-7, FROM KM STONE NO. 126 TO 108 (LHS, MALOUT TO BATHINDA)	BATHINDA	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	FEROZEPUR CITY WML, DISTRICT FEROZEPUR	FEROZEPUR	REGULAR REGULAR	140 100	OPEN OPEN	DC DC	20	20	400 400	32	55 55	Draw of Lots	15 15	5
266 267	ZIRA WML, DISTRICT FEROZEPUR GIDDERBAHA (WML)	FEROZEPUR SHRI MUKTSAR SAHIB	REGULAR REGULAR	140	OBC	DC	20 20	20	400	32 32	55	Draw of Lots Draw of Lots	15	4
268	ON NH 703, BETWEEN KM STONE 81 AND 83 ON (LHS, FROM MOGA TO BARNALA), DISTRICT MOGA	MOGA	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
269		BATHINDA	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
270 271	MOGA CITY WML ON NH, DISTRICT MOGA ON NH-254, FROM VILLAGE TARKHANWALA TO INTERSECTION WITH NH-54	MOGA BATHINDA	REGULAR REGULAR	150 170	OBC OPEN CC 1	DC DC	30 35	30 35	900 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4 5
272	ON DHARAMKOT WML, DISTRICT MOGA	MOGA	REGULAR	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
273	ON NH-254, BETWEEN DHADE AND UPTO INTERSECTION WITH NH-148B AT MAUR	BATHINDA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
274 275	ON NH-7, FROM KM STONE NO. 157 TO 168 (LHS, BATHINDA TO BARNALA) ABOHAR BYPASS FROM BRIGHTON PEAR HOTEL AND BPCL PETROL PUMP M/S BURIMOHAR PETRO CENTRE.	BATHINDA FAZILKA	REGULAR REGULAR	150 150	OBC OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4 5
276	BARNALA CITY WML, FROM MOGA T-POINT TOWARDS BARNALA CITY ON BARNALA NIHAL SINGH WALA ROAD	BARNALA	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
277		BATHINDA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
278 279	ON NH-54, FROM KM STONE NO. 250 TO 266 (LHS, BATHINDA TO FARIDKOT ROAD) ON SH-20, VILLAGE RATOOL BET, TEHSIL ZIRA, DISTRICT FEROZEPUR	FARIDKOT FEROZEPUR	REGULAR REGULAR	150 110	OBC OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 75	Draw of Lots Draw of Lots	15 15	4 5
280	ON SH-20, VILLAGE KATOOL BET, TEHSIL ZIKA, DISTRICT FEROZEPUK RHS, FROM BARETA TOWN TOWARDS JAKHAL TOWN ON NH-148B	MANSA	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	75 95	Draw of Lots Draw of Lots	15	5
281	FARIDKOT CITY, WML	FARIDKOT	REGULAR	120	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
	FROM VILLAGE RAJOWALA TO GOLEWALA ON SH15	FARIDKOT MANSA	REGULAR REGULAR	100 150	SC CC 1	CFS	35 35	35	1225	0	95	Draw of Lots	0	3 5
283 284	WITHIN 4 KM FROM BIKHI TOWN TOWARDS MANSA KENCHIYAN (LHS), ON NH 148B VILLAGE CHAK KHARAK SINGH WALA URF DOOMWALI ON DABWALI BYPASS.NH9.(LHS.TOWARDS HARYANA BORDER)	MANSA BATHINDA	REGULAR REGULAR	150 530	OPEN OPEN	CC	35 35	35 35	1225 1225	32 32	95 12	Draw of Lots Bidding	15 30	5
	ON SH 14 B/W KM STONE 12 & 19	FAZILKA	REGULAR	120	OBC	CC	35	35	1225	32	12	Bidding	30	4
286		BARNALA	REGULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
287	ON NH-7, FROM KM STONE 130 TO 110 (LHS, BATHINDA TO MALOUT)	BATHINDA BATHINDA	REGULAR REGULAR	150	OPEN OPEN	DC DC	35 30	35 30	1225 900	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
288 289	BATHINDA CITY WML, FROM ITI CHOWK TO GEHRI BUTTAR ON NH-54 (LHS) ON SH 20 BETWEEN KM STONE 48-55.	FAZILKA RATHINDA	REGULAR	290 100 100	OBC	DC	35	35	1225	32	75 55	Draw of Lots	15 15	4

Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *		Finance to b	e arranged oplicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
	RHS, ON NH-703, FROM JHUNIR TOWN TO HARYANA BORDER	MANSA	REGULAR	180	SC OPEN	CFS	35	35	1225	0 32	0 95	Draw of Lots	0	3
292	ON NH-54, FROM KM STONE NO. 226 TO 229 (LHS, BATHINDA- FARIDKOT ROAD) NH 54. RETWEEN ZIRA AND MAKHLI (RHS. FROM ZIRA TO MAKHLI). DISTRICT FEROZEPLIR	FARIDKOT FEROZEPUR	REGULAR REGULAR	150 150	OPEN	DC DC	35 35	35 35	1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5 4
293	BARNALA CITY WML. ON SANGHERA BYPASS BETWEEN MOGA TPOINT & UPTO INTERSECTION WITH SH13 (AT SANGHERA)	BARNALA	REGULAR	110	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
	BATHINDA WML ON RING ROAD PHASE 2, RHS B/W JUNCTION WITH NH-7 AND KISAN CHOWK	BATHINDA	REGULAR	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WML BATHINDA, FROM ITI BRIDGE TO MOUNT LITERA ZEE SCHOOL, ON NH 148B	BATHINDA	REGULAR	150	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
297	ON NH 354-E FROM ABOHAR TO SITO GUNNO	FAZILKA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
298 299	ON SH 16 BETWEEN KULARAN TO SITO GUNNO MANSA WML. ON NH	FAZILKA MANSA	REGULAR REGULAR	100 160	OPEN OBC	CC DC	35 30	35 30	1225 900	32 32	12 95	Bidding Draw of Lots	30 15	5 4
300		MANSA FARIDKOT	REGULAR REGULAR	150	SC	CFS	35	35	1225	0	95	Draw of Lots	0	3
301	ON NH-54 BETWEEN KM STONE 284 TO 286 (RHS, BATHINDA TO FARIDKOT)	BATHINDA	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
302	ON SH 20 BETWEEN KM STONE NO. 60 TO 72	FAZILKA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
303	ON NH-54, FROM KM STONE 268 TO 277 (LHS, FARIDKOT-BATHINDA ROAD)	BATHINDA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
304	ON NH-254, FROM KM STONE 62 TO 68 (FROM PHUL TO SALABATPURA) MANSA WML (NOT ON NH)	BATHINDA MANSA	REGULAR REGULAR	150	SC OPEN	CFS DC	35	35 20	1225	0 32	0 55	Draw of Lots Draw of Lots	0 15	3
305	MANSA WML (NOT ON NH) ON NH-54, FROM VILLAGE CHAK KHARAK SINGH WALA URF DOOMWALI TO VILLAGE PATHRALA (INCLUDING BOTH)	MANSA BATHINDA	REGULAR	470	OPEN	DC	20 35	20 35	1225	32	95	Draw of Lots Draw of Lots	15	5
307	ON NH 703A, FROM MAKHU TO VILLAGE ARIFKE (INCLUDING BOTH), DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
308	ON FAZILKA BYPASS, VILLAGE: KORIAN WALI, TEHSIL: FAZILKA	FAZILKA	REGULAR	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
309	ON MALOUT BYPASS	SHRI MUKTSAR SAHIB	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
310	BATHINDA WML ON RING ROAD PHASE 2, LHS B/W JUNCTION WITH NH-7 AND KISAN CHOWK	BATHINDA	REGULAR	155	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
311 312	ON NH-754, WITHIN 6 KM OF INTERSECTION WITH NH-7 BATHINDA CITY WML. NOT ON NH	BATHINDA BATHINDA	REGULAR REGULAR	150 180	OBC OPEN	DC DC	35 20	35 20	1225 400	32 32	95 55	Draw of Lots Draw of Lots	15 15	4
313	DATINIDA CITT WINL, NOT ON NOT ON SH-17 RETIMERN KM STONE 22 TO 26 (KOT SHAMIR TO TALWANDI SARO)	BATHINDA BATHINDA	REGULAR REGULAR	100	SC	CES	35	35	1225	0	0	Draw of Lots	n	3
314	ON SH-15, BETWEEN SABJI MANDI AND ALASKA GRAND	FARIDKOT	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
315	GONIANA WML, NOT ON NH	BATHINDA	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
316	BATHINDA CITY WML, FROM JODHPUR ROMANA TO GEHRI BUTTAR ON NH-54 (RHS)	BATHINDA	REGULAR	330	OPEN	CC	30	30	900	32	12	Bidding	30	5
317 318	FROM BUCHO KALAN TO NATHANA ON SH16A ON NH 7 KM STONE 85 TO 91.	BATHINDA SHRI MILIKTSAR SAHIR	REGULAR REGULAR	100	SC	CFS DC	35 35	35 35	1225	0 32	0 95	Draw of Lots Draw of Lots	0 15	3
319	BARNALA CITY WML, ON NEW BUS STAND ROAD, BETWEEN TARAKSHEEL CHOWK AND BUS STAND, DISTRICT BARNALA	BARNALA	REGULAR	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
320	BATHINDA WML, ON NH-7 (B/W KM STONE 126 TO KM STONE 120)	BATHINDA	REGULAR	220	OPEN CC 1	CC	30	30	900	32	12	Bidding	30	5
321	ON NH 354 FROM MUKTSAR TO AULAKH (EXCLUDING AULAKH)	SHRI MUKTSAR SAHIB	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
322	ON SH-13 , FROM ITI CHOWK TO KM STONE 52, DISTRICT BARNALA	BARNALA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
323 324	ON NEW NH 7, BETWEEN KM STONE 203 AND KM STONE 199 (LHS, SANGRUR TO BATHINDA), DISTRICT BARNALA ON NH 703, BETWEEN KM STONE 161 TO KM STONE 164 (LHS, FROM HANDIAYA CHOWK TO AKLIA),DISTRICT BARNALA	BARNALA BARNALA	REGULAR REGULAR	150 150	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
324	ON NR 703, BETWEEN KIN TONE 3D TO KIN 310NE 109 (LIDS, PROVI) HANDIATA CHOWN TO AKLIA), DISTRICT BARNALA NH-9 FROM SINGHEWALA TO DARWALL BORDER (INCLUDING SINGHEWALA)	SHRI MUKTSAR SAHIR	REGULAR REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
326	ON NH 703, BETWEEN VILLAGE PAKHOKE AND BHOTNA ON L.H.S TOWARDS MOGA, DISTRICT BARNALA	BARNALA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	TAPA WML NOT ON NH-07, DISTRICT BARNALA	BARNALA	REGULAR	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
328	ON NH 7, FROM KM STONE 178 TO KM STONE 169 (LHS, SANGRUR TO BATHINDA), DISTRICT BARNALA	BARNALA	REGULAR	150	OPEN	DC	35 35	35 35	1225	32	95 95	Draw of Lots	15	5
329	LHS, ON NH-703, FROM BHAME KHURD TO HARYANA BORDER BETWEEN VILLAGE THARAJ AND BAGHAPURANA (INCLUDING BOTH) (ON SH16A). DISTRICT MOGA	MANSA MOGA	REGULAR REGULAR	180	OPEN OBC CC 1	DC DC	35	35	1225	32 32	95 75	Draw of Lots	15 15	4
331	ON NH 62 B/W KM STONE 29 TO CHAINAGE NO. 32.500 (LHS MOVING FROM ABOHAR TO GUMJAL)	FAZILKA	REGULAR	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
332	ON NH 7 FROM FAZILKA TO INDIA-PAKISTAN BORDER.	FAZILKA	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
333	TALWANDI BHAI WML (NOT ON NH), DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
334 335	ON NH 7 FROM FAZILKA CITY TO BURI MUHAR (RHS WHILE MOVING FROM FAZILKA TO ABOHAR) ON NH 7 BETWEEN KM STONE NO. 45 TO 60.	FAZILKA SHRI MUKTSAR SAHIB	REGULAR REGULAR	150 150	OPEN OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
335	ON NH 7 BETWEEN KM STONE NO. 45 TO 60. ON NH 62 B/W KM STONE 30 TO 32 (RHS MOVING FROM ABOHAR TO GANGANAGAR)	FAZILKA	REGULAR REGULAR	340	OPEN	CC	35	35	1225	32	12	Bidding	30	5
337	ON SH 17, WITHIN 6 KM OF VILLAGE SINGO TOWARDS HARYANA BORDER	BATHINDA	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
338	LHS, FROM BARETA TOWN TOWARDS JAKHAL TOWN ON NH-148B	MANSA	REGULAR	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
339 340	WITHIN MUKTSAR CITY(WML), ON ABOHAR ROAD	SHRI MUKTSAR SAHIB BATHINDA	REGULAR	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
340	BATHINDA WML (RHS), ON MULTANIA ROAD FROM MULTANIA FLYOVER TO KISAN CHOWK ON NH 354 FROM BURA GUJJAR TO BHANGE WALA	SHRI MUKTSAR SAHIR	REGULAR REGULAR	110 150	OPEN OBC	DC DC	20 35	20 35	400 1225	32 32	55 95	Draw of Lots Draw of Lots	15 15	5
341	ON NH 754 FROM BURA GUJJAR TO BHANGE WALA ON NH 754 FROM CHAK ARNIWALA TO LADHUWALA UTTAR	FAZILKA	REGULAR	150	SC	CFS	35	35	1225	0	95	Draw of Lots	0	3
343	ON NH 754 B/W KM STONE 40 TO 42 (LHS BATHINDA TO MUKTSAR)	SHRI MUKTSAR SAHIB	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
344	ON BYPASS AT VILLAGE KHUI KHERA	FAZILKA	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
345 346	ON NH 354-E BETWEEN KM STONE 1 TO 22.	SHRI MUKTSAR SAHIB	REGULAR	150 150	OBC	DC CFS	35	35 35	1225	32	95	Draw of Lots	15 0	4
346	ON NH 95 (NEW NH 5), FROM KM STONE 167 TO 151 (LHS, FROM FEROZEPUR TO MOGA), DISTRICT MOGA MUKTSAR WMI ON RALLAMGARH ROAD	MOGA SHRI MIJKTSAR SAHIR	REGULAR REGULAR	150	SC OPEN	DC	35 20	35 20	1225	32	0 55	Draw of Lots Draw of Lots	15	5
348	ON NH 7 BETWEEN KM STONE 101 TO 106.	SHRI MUKTSAR SAHIB	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
349	ON NH 7 BETWEEN KM STONE 90 TO 92 (LHS MOVING FROM MALOUT TO BATHINDA)	SHRI MUKTSAR SAHIB	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
350	ON NH 703, KM STONE 58 TO 52 (LHS, FROM MOGA TO JALANDHAR), DISTRICT MOGA	MOGA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
351 352	ON NH 354, FROM VILLAGE ARIFKE TO INTERSECTION WITH CIRCULAR ROAD ON FEROZEPUR CITY BATHINDA CITY WML. ON LAL SINGH BASTI ROAD	FEROZEPUR BATHINDA	REGULAR REGULAR	150 100	SC OPEN CC 1	CFS	35	35 20	1225 400	0 32	0 12	Draw of Lots Bidding	0	3
352	BATHINDA CITY WML, ON LAL SINGH BASTI ROAD ON NH-7. FROM KM STONE NO. 145 TO 151 (LHS. BARNALA TO BATHINDA)	BATHINDA BATHINDA	REGULAR REGULAR	100	OPEN CC 1 OBC	CC DC	20 35	20 35	1225	32 32	12 95	Bidding Draw of Lots	30 15	4
354	ON SH16, FROM JUNCTION OF SH14 & SH 16 (NEAR PUNJAB-RAJASTHAN BORDER) & M/S TILAK MOTORS (IOCL)	FAZILKA	REGULAR	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
355	ON SH-15, BETWEEN KM STONE 21 AND KM STONE 14, DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	ABOHAR WML ON SRIGANGANAGAR ROAD WITHIN 2 KM OF RAILWAY CROSSING	FAZILKA	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
356		SHRI MUKTSAR SAHIB	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
356 357	NH-9 FROM MEHNA TO SINGHEWALA (INCLUDING MEHNA EXCLUDING SINGHEWALA)		DECLILAD	120										
356 357 358	ON SH 20 BETWEEN KM STONE NO. 74 TO 81.	FAZILKA	REGULAR REGULAR	120 150	OPEN OPEN	DC	35	35 35	1225	32	75 12	Draw of Lots Ridding	15 30	-
356 357			REGULAR REGULAR REGULAR	120 150 150	OPEN OPEN SC CC 1	CC CFS	35 35 35	35 35 35	1225 1225 1225	32 32 0	75 12 0	Bidding Draw of Lots Draw of Lots	30 0	5
356 357 358 359 360 361	ON SH 20 BETWEEN KM STONE NO. 74 TO 81. ON NH 54, KM STONE 205 TO KM STONE 209, (LHS, FROM ZIRA TO BATHINDA), DISTRICT FEROZEPUR WITHIN 5 KM FROM MANSA KENCHIYAN TOWARDS BIKHI ON NH 148B ON NH 62 BYW KM STONE 27 TO 29 (LHS MOVING FROM ABOHAR TO GUMIAL)	FAZILKA FEROZEPUR MANSA FAZILKA	REGULAR REGULAR REGULAR	150 150 340	OPEN SC CC 1 OBC CC 1	CC CFS DC	35 35 35	35 35 35	1225 1225 1225	32 0 32	12 0 95	Bidding Draw of Lots Draw of Lots	30 0 15	
356 357 358 359 360 361 362	OM SH 20 BETWEEN KM STONE NO. 74 TO 81. ON NH 54, KM STONE 205 TO KM STONE 209, (LHS, FROM ZIRA TO BATHINDA), DISTRICT FEROZEPUR WITHIN S KM FROM MANSA KENCHYAN TOWARDS BIKHI ON NH 148B	FAZILKA FEROZEPUR MANSA	REGULAR REGULAR	150 150	OPEN SC CC 1	CC CFS	35 35	35 35	1225 1225	32 0	12 0	Bidding Draw of Lots	30 0	3

Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST CC-1 OBC OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
364	FEROZEPUR CITY WML ON NH, DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
365	ON NH 7 FROM FAZILKA CITY TO BURJ MUHAR (LHS WHILE MOVING FROM FAZILKA TO ABOHAR)	FAZILKA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
366 367	ON NH 62 B/W KM STONE 25 TO 27 (LHS MOVING FROM ABOHAR TO GUMJAL) ON NH 62 B/W KM STONE 12 TO 20	FAZILKA FAZILKA	REGULAR REGULAR	340 175	OPEN OBC	DC CC	35 35	35 35	1225 1225	32 32	95 12	Draw of Lots Bidding	15 30	5 4
	ON NH 92 B/W NN 310NB 12 TO 20 BHAGAPIIRANA WMI (ON NH 554) DISTRICT MOGA	MOGA	REGULAR REGULAR	150	SC	CES	30	30	900	0	0	Draw of Lots	0	3
369	ON NH 62 B/W KM STONE 20 TO 24 (RHS MOVING FROM ABOHAR TO GUMJAL)	FAZILKA	REGULAR	280	OPEN	CC	35	35	1225	32	12	Bidding	30	5
370	ON NH 754 B/W KM STONE 23 TO 25 (RHS BATHINDA TO MUKTSAR)	SHRI MUKTSAR SAHIB	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
371	SH 16 B/W KM STONE 24 TO 26 (MUKTSAR-KOTKAPURA ROAD)	SHRI MUKTSAR SAHIB	REGULAR	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
372	ON NH-7 ABOHAR BYPASS BETWEEN KM STONE 68 TO 75	FAZILKA	REGULAR	150 150	OBC	DC	35 35	35	1225	32	95	Draw of Lots	15	4
373	ON NH703, FROM KM STONE 94 TO KM STONE 86,(LHS, WHILE GOING FROM BARNALA TO MOGA), DISTRICT MOGA ON SH 14. FROM AZIMGARH TO RAMSARA (LHS. FROM AZIMGARH TO RAMSARA)	MOGA FAZII KA	REGULAR REGULAR	150 120	SC OPEN	CFS DC	35 35	35 35	1225	32	75	Draw of Lots Draw of Lots	0 15	3
375	ON SH 14, FROM AZIMGARH TO KAMSAKA (LHS, FROM AZIMGARH TO KAMSAKA) GURUHARSAHAI WML. DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	120	OPEN CC 1	DC	20	20	400	32	75 55	Draw of Lots Draw of Lots	15	5
376	ON NH-7 BETWEEN KM STONE 58 TO 65	FAZILKA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
377	ON NH-54, FROM KM STONE NO. 255 TO 259 (RHS, BATHINDA TO FARIDKOT ROAD)	FARIDKOT	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
378	ON SH 20 BETWEEN KM STONE NO. 72 TO 74 (LHS JALALABAD TO FAZILKA)	FAZILKA	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
379	ON NH 703B, BETWEEN KM STONE 11 AND 15 ON L.H.S TOWARDS MAKHU FROM KOT ISE KHAN, DISTRICT MOGA	MOGA	REGULAR	150 150	OBC	DC DC	35 35	35 35	1225	32	95 95	Draw of Lots	15	4
380	NH-9 FROM LAMBI TO MEHNA (INCLUDING LAMBI AND EXCLUDING MEHNA) ON NH 703B, BETWEEN KM STONE 3 TO 6 (LHS. FROM MOGA TO KOT ISE KHAN), DISTRICT MOGA	SHRI MUKTSAR SAHIB MOGA	REGULAR REGULAR	150 150	OPEN OPEN	DC	35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
382	ON NH 7. FROM KM STONE 19 TO KM STONE 207 (LHS. BATHINDA TO SANGRUR). DISTRICT MOGA	BARNALA	REGULAR	155	SC	CFS	35	35	1225	0	95	Draw of Lots	0	3
383	ON NH 5, BETWEEN PILOT CHOWK TO FEROZESHAH TOLL PLAZA, (RHS, FROM FEROZEPUR TO MOGA)	FEROZEPUR	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
384	ON SH-20, BETWEEN KM STONE 32 TO 35, DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
385	ON SH-20, BETWEEN KM STONE 6 TO 9 (RHS, FROM FEROZEPUR TO JALALABAD) , DISTRICT FEROZEPUR	FEROZEPUR	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
386	ON NH-354, BETWEEN SADIQ TO DOAD	FARIDKOT	REGULAR	150	SC OBC	CFS	35 35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
387 388	ON NH 354, BETWEEN VILLAGE JOKH HARI HAR AND DOAD (INCLUDING BOTH), DISTRICT FEROZEPUR ON NH 95 (NEW NH 5), FROM KM STONE 176 TO KM STONE 185 (LHS. TALWANDI BHAI TO FEROZEPUR)	FEROZEPUR FEROZEPUR	REGULAR REGULAR	150 150	OPEN	DC DC	35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	4
389	BETWEEN KM STONE NO. 137-145 ON SH-10 (PATRAN-MOONAK ROAD)	SANGRUR	REGULAR	122	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
390	B/W KM STONE NO. 71 & 76 ON SH-11 (WITHIN SANGRUR DISTRICT)	SANGRUR	REGULAR	101	Open PH	DC	35	35	1225	32	75	Draw of Lots	15	5
391	WITHIN KM STONE 595 TO 597 ON NH-44, LHS WHILE TRAVELLING FROM LUDHIANA TO RAIPURA	FATEHGARH SAHIB	REGULAR	260	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
392	B/W CAMBRIDGE INTERNATIONAL SCHOOL & GAHIR AGRO INDUSTRIES, LHS ON SANGRUR-SUNAM ROAD)	SANGRUR	REGULAR	130	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
393 394	BETWEEN KM STONE NUMBER 9 AND 12 ON NH-152 ON LHS WHILE GOING FROM AMBALA TO KAITHAL WITHIN 1.5 KMS FROM NAYARA PETROL PLIMP ANGAD MOTORS ON SIRHIND BY PASS ROAD (PATIALA WML)	PATIALA PATIALA	REGULAR REGULAR	150 150	SC Open	CFS DC	35 20	35 20	1225 400	0 32	0 75	Draw of Lots Draw of Lots	15	3
394	WITHIN 1.5 KM S FROW MATAKA PETROL PUMP ANGAD MICHORS ON SIRRIND BY PASS ROAD (PATIALA WMI). PATIALA WMI (BETWEEN GURLIDWARA DUKHNIWARAN CHOWK AND OMAKE TOWNSHIP ON PATIAL A "SIRHIND ROAD).	PATIALA PATIALA	REGULAR REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
396	BETWEEN FOCAL POINT TRAFFIC LIGHT AND PARK HOSPITAL ON SIRHIND BY PASS ROAD (PATIALA WML)	PATIALA	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
397	PATIALA WML (ON RAJPURA ROAD ON LHS FROM PARK HOSPITAL TO PATIALA TRUCK UNION)	PATIALA	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
398	BETWEEN KM STONE NO 11 AND 13 ON SH-08 ON LHS WHILE GOING FROM PATIALA TO DEVIGARH	PATIALA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
399 400	BETWEEN KM STONE NO 610 AND 623 ON NH-44 (OLD NH-1) ON LHS WHILE GOING FROM AMBALA TO LUDHIANA	PATIALA	REGULAR	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4 5
400	PATIALA WML (ON RAJPURA ROAD ON LHS FROM PATIALA TRUCK UNION TO SRI AUROBINDO SCHOOL) WITHIN MUNICIPAL LIMITS OF KHANNA, ON KHANNA SAMRALA ROAD	PATIALA LUDHIANA	REGULAR REGULAR	150 120	Open OPEN CC 1	DC DC	20 20	20 20	400 400	32 32	75 55	Draw of Lots Draw of Lots	15 15	5
402	BETWEEN KM STONE NO 25 AND 30 ON SH-08 (PATIALA - PENOWA ROAD)	PATIALA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
403	BETWEEN KM STONE NUMBER 317 AND 325 ON NH-07 ON RHS WHILE GOING FROM RAIPURA TO BANUR	PATIALA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
404	PATIALA WML ON NABHA ROAD (BETWEEN THAPAR CHOWK AND SILVER PALMS)	PATIALA	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
405 406	PATIALA WML ON SANOUR ROAD (FROM SHAHID UDHAM SINGH STATUE (NEAR BADI NADI PATIALA) UPTO NH-07)	PATIALA PATIALA	REGULAR	150 150	Open OBC	DC DC	20 35	20 35	400 1225	32 32	75 95	Draw of Lots	15 15	5
406	BETWEEN KM STONE NO 283 AND 288 ON NH-07 ON LHS WHILE GOING FROM PATIALA TO SANGRUR UPTO 6 KM FROM ROHTI PUL TOWARDS BHADSON ON SH-12A (NARHA-AMI OH ROAD)	PATIALA PATIALA	REGULAR REGULAR	120	SC	CES	35	35	1225	0	95	Draw of Lots Draw of Lots	0	3
408	PATIALA WML (BETWEEN FOUNTAIN CHOWK AND MULTANI MAL MODI COLLEGE ON LOWER MALL ROAD.)	PATIALA	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
409	VILLAGE TEPLA ON NH-205A (BANUR - TEPLA ROAD)	PATIALA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
410	BETWEEN KM STONE NO 294 AND 289 ON NH-07 ON LHS WHILE GOING FROM PATIALA TO SANGRUR	PATIALA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
411	BETWEEN KM STONE NO 75 AND 85 ON SH-10 (PATIALA -SAMANA HIGHWAY) ON BANUR -TEPLA ROAD ON NH-205A (IN BETWEEN GT ROAD (NH-44) AND IOC RO M/S LABH AUTO FS)	PATIALA PATIALA	REGULAR REGULAR	120 150	SC Open	CFS DC	35 35	35 35	1225 1225	0 32	0 95	Draw of Lots Draw of Lots	0 15	3
412	BETWEEN KM STONE NO 9 AND 12 ON NH-152 ON RHS WHILE GOING FROM AMBALA TO KAITHAL	PATIALA	REGULAR	150	Open	CC	35	35	1225	32	12	Bidding	30	5
414	BETWEEN KM STONE NO 14 AND 18 ON SH-08 (PATIALA - PEHOWA ROAD)	PATIALA	REGULAR	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
415	BETWEEN KM STONE NO 105 AND 110 ON SH-10 (SAMANA-PATRAN HIGHWAY)	PATIALA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
416	B/W KM STONE NO. 28 & 33 ON SH-11, RHS ON MALERKOTLA -LUDHIANA ROAD (SH-11)	MALERKOTLA	REGULAR	135	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
417	BETWEEN KM STONE NO 88 AND 98 ON SH-10 (PATIALA -SAMANA HIGHWAY) BETWEEN KM STONE NUMBER 228 AND 239 ON NH-52 LHS WHILE GOING FROM PATRAN TO KHANALIRI)	PATIALA PATIALA	REGULAR REGULAR	125 150	OBC Open	DC DC	35 35	35 35	1225	32 32	75 95	Draw of Lots	15 15	4
418	BETWEEN KM STONE NUMBER 228 AND 239 ON NH-52(LHS WHILE GOING FROM PATRAN TO KHANAUKI) BETWEEN KM STONE NO 597 AND 599 ON NH-44 (OLD NH-1) ON LHS WHILE GOING FROM AMBALA TO LUDHIANA	PATIALA PATIALA	REGULAR REGULAR	150	Open	DC	35	35	1225	32	95 95	Draw of Lots Draw of Lots	15	5
420	BETWEEN KM STONE NO 110 AND 115 ON SH-10 (SAMANA-PATRAN HIGHWAY)	PATIALA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
421	BETWEEN KM STONE NO 100 AND 105 ON SH-10 (SAMANA-PATRAN HIGHWAY)	PATIALA	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
422	BETWEEN KM STONE NO 610 AND 623 ON NH-44 (OLD NH-1) ON RHS WHILE GOING FROM AMBALA TO LUDHIANA	PATIALA	REGULAR	185	Open	CC	35	35	1225	32	12	Bidding	30	5
423	BETWEEN KM STONE NUMBER 317 AND 325 ON NH-07 ON LHS WHILE GOING FROM RAIPURA TO BANUR SAMANA WMI (FROM BABA BANDA SINGH BAHADI IR CHOWK TOWARDS PATRAN ON SAMANA- PATRAN ROAD)	PATIALA PATIALA	REGULAR REGULAR	150 130	Open SC	DC CES	35 20	35 20	1225	32	95 0	Draw of Lots	15 0	5
424	SAMANA WML (FROM BABA BANDA SINGH BAHADUR CHOWK TOWARDS PATRAN ON SAMANA- PATRAN ROAD) WITHIN 4 KMS FROM PSEB SUB STATION. GHULAL TOWARDS CHANDIGARH. ON LUDHIANA - CHANDIGARH ROAD.	PATIALA LLIDHIANA	REGULAR REGULAR	130	OBC	DC	35	20 35	1225	32	95	Draw of Lots Draw of Lots	15	4
426	RAJPURA WML ON PATIALA ROAD (ON LHS FROM RAILWAY OVER BRIDGE TO INTERSECTION OF NH-07)	PATIALA	REGULAR	140	Open	CC	20	20	400	32	12	Bidding	30	5
	SAMANA WML (FROM BABA BANDA SINGH BAHADUR CHOWK TOWARDS PATIALA ON SAMANA- PATIALA ROAD)	PATIALA	REGULAR	130	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
427	BETWEEN KM STONE NUMBER 302 AND 311 ON LHS ON NH-07 WHILE GOING FROM PATIALA TO RAJPURA	PATIALA	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
428		FATEHGARH SAHIR	REGULAR	155	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
428 429	SIRHIND WML ON NH-44 (LUDHIANA - RAJPURA ROAD)				Open	DC	35	35	1225	32	95	Draw of Lots	15	5
428 429 430	BETWEEN KM STONE NO 263 AND 266 ON NH-07 ON LHS WHILE GOING FROM SANGRUR TO PATIALA	PATIALA	REGULAR	150										-
428 429			REGULAR REGULAR REGULAR	150 150 130	Open OBC	DC DC	35 20	35 20	1225	32	95 55	Draw of Lots	15 15	5 4
428 429 430 431	BETWEEN KM STONE NO 263 AND 266 ON NH-07 ON LHS WHILE GOING FROM SANGRUR TO PATIALA BETWEEN KM STONE NO 292 AND 284 ON NH-07 ON RHS WHILE GOING FROM PATIALA TO SANGRUR	PATIALA PATIALA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5 4 3
428 429 430 431 432 433 434	BETWEEN KM STONE NO 283 AND 266 ON NH-07 ON LHS WHILE COINC FROM SANGRUR TO PATIALA BETWEEN KM STONE NO 292 AND 284 ON NH-07 ON RHS WHILE COING FROM PATIALA TO SANGRUR SAMANA WML (FROM BABA BANDA SINGH BAHADUR CHOWK TOWARDS BHAWANIGARH ON SAMANA- BHAWANIGARH ROAD) WITHIN MUNICIPAL LIMIT OF KHANNA, ON KHANNA ANILOH ROAD WITHIN SAW REVOM DEVIGARN BUS STAND ON SHAON	PATIALA PATIALA PATIALA LUDHIANA PATIALA	REGULAR REGULAR REGULAR REGULAR	150 130 140 120	Open OBC SC Open	DC DC CFS DC	35 20 20 35	35 20 20 35	1225 400 400 1225	32 32 0 32	95 55 0 75	Draw of Lots Draw of Lots Draw of Lots Draw of Lots	15 15 0 15	
428 429 430 431 432 433 434 435	BETWEEN KM STONE NO 263 AND 266 ON NH-07 ON LHS WHILE GOING FROM SANGRUR TO PATIALA BETWEEN KM STONE NO 292 AND 284 ON NH-07 ON RHS WHILE GOING FROM PATIALA TO SANGRUR SAMANA WML (FROM BABA BANDA SINGH BAHADUR CHOWK TOWARDS BHAWANIGARH ON SAMANA- BHAWANIGARH ROAD) WITHIN MUNICIPAL LIMIT OF KHANNA, ON KHANNA ANLOH ROAD	PATIALA PATIALA PATIALA LUDHIANA	REGULAR REGULAR REGULAR	150 130 140	Open OBC SC	DC DC CFS	35 20 20	35 20 20	1225 400 400	32 32 0	95 55 0	Draw of Lots Draw of Lots Draw of Lots	15 15 0	3

Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimens ea of the site M.). *		Finance to b		Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN PH OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
	BETWEEN KM STONE NO 85 AND 88 ON SH-10 (PATIALA -SAMANA HIGHWAY)	PATIALA	REGULAR	125	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
	BETWEEN KM STONE 231 & 233 ON NH-52 IN DISTT. SANGRUR (EXCEPT KHANAURI MUNICIPAL LIMITS) IN BETWEEN MOONAK MUNICIPAL LIMIT BORDER & HARYANA (JAKHAL) BORDER ON NH-148B IN DISTT. SANGRUR	SANGRUR SANGRUR	REGULAR REGULAR	150 150	SC CC 1 OPEN CC 2	CFS CC	35 35	35 35	1225 1225	0 32	0 12	Draw of Lots Bidding	0 30	3 5
440	WITHIN KM STONE 553 - 558 ON NH -44. RHS WHILE TRAVELLING FROM LUDHIANA TO RAIPURA	LUDHIANA	REGULAR	190	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO 115 AND 118 ON SH-10 (SAMANA-PATRAN HIGHWAY)	PATIALA	REGULAR	120	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
	KHANNA WML ,ON KHANNA BYEPASS ROAD (MALERKOTLA - NH44 BYEPASS ROAD)	LUDHIANA	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
443	LUDHIANA OML, ON NH-05 TILL KOHARA CHOWK, LHS CHANDIGARH TO LUDHIANA LEHRAGAGA WML. ON SUNAM-JAKHAL ROAD (NH-148BB)	LUDHIANA SANGRUR	REGULAR REGULAR	160 150	OBC Open	CC	35 30	35 30	1225 900	32 32	12 12	Bidding Bidding	30 30	4
445	NABHA WML ON PATIALA ROAD (BETWEEN ROHTI PUL AND PATIALA GATE)	PATIALA	REGULAR	150	Open	DC	20	20	400	32	55	Draw of Lots	15	5
446	KHAMMNAO OML , TOWARDS CHANDIGARH ON NH-05, LUDHIANA -CHANDIGARH ROAD (WITHIN FATEHGARH SAHIB DIST)	FATEHGARH SAHIB	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	SIRHIND WML (ON MINIMUM 60 FT WIDE ROAD)	FATEHGARH SAHIB	REGULAR	140	SC	CFS	20	20	400	0		Draw of Lots	0	3
448	ANYWHERE IN PATIALA WML ON MINIMUM 60 FEET WIDE ROAD (NOT ON SH/NH) WITHIN MUNICIPAL LIMITS OF SAMRALA. ON KHANNA -SAMRALA ROAD	PATIALA LUDHIANA	REGULAR REGULAR	160 120	Open Open	DC DC	20	20 20	400 400	32 32	75 55	Draw of Lots Draw of Lots	15 15	5
	WITHIN MUNICIPAL LIMITS OF SAMRALA, ON KHANNA -SAMRALA ROAD WITHIN 2 KMS FROM KITTY INDUSTRIES PVT LTD (UNIT AT PHANGLIAN) ON NH-05. LHS CHANDIGARH TO LUDHIANA	LUDHIANA	REGULAR REGULAR	120	OBC	DC	35	20 35	1225	32	95	Draw of Lots	15	4
451	SAMANA WML (FROM BABA BANDA SINGH BAHADUR CHOWK TOWARDS CHEEKA ON SAMANA- CHEEKA ROAD)	PATIALA	REGULAR	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	ON SH-11, IN B/W CALIFORNIA GARDENS AND GREEN WOOD DHABA (LHS FROM LUDHIANA - MALERKOTLA)	LUDHIANA	REGULAR	160	Open	CC	35	35	1225	32	12	Bidding	30	5
453	ANYWHERE WITHIN 2.5 KM RADIUS OF SIRHINDI GATE IN MALERKOTLA WML (ON MINIMUM 60FT WIDE ROAD) SIRHIND WML, WITHIN 1 KMS FROM VISHAVKRAMA CHOWK (ON MINIMUM 60 FT WIDE ROAD)	MALERKOTLA	REGULAR REGULAR	120 105	OPEN CC 1 OBC	DC DC	20	20 20	400 400	32 32	55 55	Draw of Lots	15 15	5
	IN AHMEDGARH WMI. (ON MINIMI M 60 FT WIDE ROAD)	FATEHGARH SAHIB	REGULAR REGULAR	100	SC	CES	20	20	400	0	0	Draw of Lots	0	3
456	SIRHIND WML, ON SH 12A, B/W BABA BANDA SINGH BAHADUR GATE TO JYOTI SARUP GURUDWARA	FATEHGARH SAHIB	REGULAR	190	Open	CC	20	20	400	32	12	Bidding	30	5
457	SIRHIND WML, WITHIN 1 KMS FROM LINCON COLLEGE.(ON MINIMUM 60 FT WIDE ROAD)	FATEHGARH SAHIB	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
458	WITHIN KM 557 TO 559 ON NH-44,LHS WHILE TRAVELLING FROM LUDHIANA TO RAJPURA	LUDHIANA	REGULAR	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
100	MANDIGOBINDGARH,IN B/W GMR RESIDENCY TO DMART,LHS WHILE GOING FROM LUDHIANA TO RAIPURA ON NH-44 FROM PNB BANK BADALIALA SINGH BRANCH TO AKAL ACADEMY.CHUNNIKALAN ONSH-12A (LHS.FATEHGARH TO LANDRAN)	FATEHGARH SAHIB FATEHGARH SAHIB	REGULAR REGULAR	260 130	Open sc	DC CES	35 35	35 35	1225 1225	32 0	95 0	Draw of Lots Draw of Lots	15 0	5 3
460 461	FROM PNB BANK BADALIALA SINGH BRANCH TO AKAL ACADEMY, CHUNNIKALAN ONSH-12A (LHS, FATEHGARH TO LANDRAN) MANDIGOBINDGARH. IN B/W DMART TO NISS. LHS WHILE TRAVELLING FROM LUDHIANA TO RAIPURA- ON NH-44	FATEHGARH SAHIB LUDHIANA	REGULAR REGULAR	130 230	SC Open	DC	35 35	35 35	1225	32	95	Draw of Lots Draw of Lots	15	5
	WITHIN MUNICIPAL LIMITS OF MACHHIWADA (ON MINIMUM 60 FT WIDE ROAD)	LUDHIANA	REGULAR	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	WITHIN KM 580 TO 584 ON NH-44, RHS WHILE TRAVELLING FROM LUDHIANA TO RAJPURA	FATEHGARH SAHIB	REGULAR	210	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
464 465	by w need the control of the control	SANGRUR	REGULAR	160	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3 4
465 466	WITHIN 7KM FROM LALL PALACE CINEPLEX(JAGRAON) ON RHS TOWARDS MOGA ON LUDHIANA MOGA ROAD MANDIGOBINDGARH OML, ON SH-12A TILL DESH BHAGAT UNIVERSITY, LHS MANDIGOBINDGARH - AMLOH	LUDHIANA FATEHGARH SAHIB	REGULAR REGULAR	150 190	OBC PH Open	DC DC	35 35	35 35	1225 1225	32 32	95 75	Draw of Lots Draw of Lots	15 15	4 5
	MANDIGOBINDGARH OML, ON SH-12A TILL DESH BHAGAT UNIVERSITY, LHS MANDIGOBINDGARH - AMLOH MANDIGOBINDGARH OML, ON SH-12A TILL DESH BHAGAT UNIVERSITY, RHS MANDIGOBINDGARH TO AMLOH,	FATEHGARH SAHIB	REGULAR	190	Open	DC	35	35	1225	32		Draw of Lots	15	5
100	WITHIN 3KM FROM HP PETROLPUMP BANSAL HP CENTRE AT SULLAR GHARAT, RHS ON SANGRUR-PATRAN ROAD (NH-52)	SANGRUR	REGULAR	156	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
469	BETWEEN KM STONE NO 118 AND 124 ON SH-10 (SAMANA-PATRAN HIGHWAY)	PATIALA	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
470	WITHIN KM 547 TO 549 ON NH-44, LHS WHILE TRAVELLING FROM LUDHIANA TO RAIPURA WITHIN KM STONE 542 TO 545 ON NH-44. LHS WHILE TRAVELLING FROM LUDHIANA TO RAIPURA	LUDHIANA	REGULAR REGULAR	190 195	Open Open	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots Draw of Lots	15 15	5
	BETWEEN KM STONE 42 & 45 ON SUNAM TO MANSA ROAD (SH 12A) IN DISTT. SANGRUR	SANGRUR	REGULAR	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
473	LUDHIANA WML(ON RHS IN BETWEEN JAIN MANDIR CHOWK AND GRAND WALK MALL ON 200 FEET BYPASS ROAD)	LUDHIANA	REGULAR	150	SC	CFS	20	20	400	0		Draw of Lots	0	3
474	WITHIN MUNICIPAL LIMITS OF KHANNA, ON KHANNA MALERKOTLA ROAD	LUDHIANA	REGULAR	140	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN MUNICIPAL LIMITS OF KHANNA, LHS WHILE MOVING FROM JALANDHAR TO DELHI. IN RETWEEN SH-10/NH-148B INTERSECTION & PUNIAB-HARYANA BORDER ON MOONAK-TOHANA ROAD (NH-148B).	LUDHIANA SANGRUR	REGULAR REGULAR	160 215	Open Open	DC DC	30 35	30 35	900 1225	32 32		Draw of Lots	15 15	5
477	BHAWANIGARH WML (ON SANGRUR- PATIALA ROAD (NH-7))	SANGRUR	REGULAR	150	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
478	WITHIN 2KM OF BAKLAVI BAR&KITCHEN TOWARDS LADOWAL ON LHS(LUDHIANA-LADOWALROAD) ONSOUTHERN BYPASSROAD	LUDHIANA	REGULAR	235	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	RAJPURA WML ON PATIALA ROAD (ON RHS FROM RAILWAY OVER BRIDGE TO INTERSECTION OF NH-07)	PATIALA	REGULAR	140	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
	B/W KM STONE NO. 61 & 53 ON SH-11 (WITHIN SANGRUR DISTRICT, SANGRUR-MALERKOTLA ROAD) WITHIN 3 KM OF ST. STEPHEN INT. SCHOOL.MEHLAN TOWARDS PATRAN. LHS ON SANGRUR-PATRAN ROAD LHS (NH-52)	SANGRUR SANGRUR	REGULAR REGULAR	105 177	OBC Open	DC DC	35 35	35 35	1225 1225	32 32	75 95	Draw of Lots Draw of Lots	15 15	4 5
481	WITHIN 3 KM OF ST. STEPHEN INT. SCHOOL, MEHLAN TOWARDS PATKAN, LHS ON SANGKUR-PATKAN KOAD LHS (NH-52) WITHIN 2KM OF SHRIRAM GLOBAL SCHOOL TOWARDS LADOWAL (LHS, LUDHIANA-LADOWAL RD) ON SOUTHERN BYPASS ROAD	LUDHIANA	REGULAR	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
483	ANYWHERE WITHIN VILL. DIRBA A & DIRBA B (OUTSIDE MUNICIPAL LIMITS), ON NH-52(RHS SANGRUR-PATRAN ROAD)	SANGRUR	REGULAR	153	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	LUDHIANA WML(ON NH 44 (RHS WHILE MOVING FROM DELHI TO JALANDHAR))	LUDHIANA	REGULAR	160	OBC	DC	30	30	900	32	75	Draw of Lots	15	4 5
485	BETWEEN BPCL OIL DEPOT & MEHLAN CHOWK FLYOVER ON NH-52 (LHS SANGRUR-JIND ROAD) WITHIN 10 KM OF NATIONAL INSTITUTE OF NURSING TOWARDS PATIALA ON NH-7(LHS ON SANGRUR-PATIALA ROAD)	SANGRUR SANGRUR	REGULAR REGULAR	185 150	Open Open	CC DC	35 35	35 35	1225 1225	32 32	12 95	Bidding Draw of Lots	30 15	5
487	B/W GURU NANAK AGRO INDUSTRIES, DIRBA & GURU NANAK DWAR GURDWARA ON NH-52(LHS SANGRUR-PATRAN ROAD)	SANGRUR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
	WML LUDHIANA(WITHIN 2KM OF PRACHIN GAUSHALA PART 2 TOWARDS WASTE PROCESSING PLANT) ON TIBBA ROAD	LUDHIANA	REGULAR	155	OBC CC 1	DC	20	20	400	32		Draw of Lots	15	4
	WITHIN 7 KM FROM RELIANCE PETROLPUMP BADRUKHAN TOWARDS BARNALA (LHS ON SANGRUR-BARNALA ROAD (NH-7))	SANGRUR	REGULAR	150	Open	DC	35	35	1225	32		Draw of Lots	15	5
490 491	BETWEEN KM STONE NUMBER 224 AND 230 ON NH-52 RHS WHILE GOING FROM PATRAN TO KHANAURI WMI LUDHIANA (ON IASPAL BANGAR TO LOHARA ROAD)	PATIALA LUDHIANA	REGULAR REGULAR	150 160	Open PH	DC CES	35 20	35 20	1225 400	32 0	95 0	Draw of Lots Draw of Lots	15	5
	WITHIN 3 KM FROM ITI CHOWK, SUNAM ON SUNAM-LEHRAGAGA ROAD (NH-148BB)	SANGRUR	REGULAR	155	OBC	CC	30	30	900	32	12	Bidding	30	4
493	DHURI WML (ON MINIMUM 60FT WIDE ROAD)	SANGRUR	REGULAR	115	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	SANGRUR WML (ON ANY ROAD MINIMUM 60FT WIDE)	SANGRUR	REGULAR	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
495	LUDHIANA WML (HAIBOWAL TO BALOKE ROAD) VILL SAILIMA, ON SH-12A LHS WHILF MOVING TOWARDS SLINAM FROM BHAWANIGARH	LUDHIANA SANGRUR	REGULAR REGULAR	155 110	SC Open	CFS CC	20 35	20 35	400 1225	0 32	0 12	Draw of Lots Bidding	0 30	3
	B/W KM STONE NO. 48 & 53 ON SH-11 (WITHIN MALERKOTLA DISTRICT)	MALERKOTLA	REGULAR	140	Open	CC	35	35	1225	32	12	Bidding	30	5
498	WITHIN CHEEMA MUNICIPAL LIMITS, ON ANY ROAD MINIMUM 60FT WIDE	SANGRUR	REGULAR	135	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN 9KM OF BAKLAVI BAR&KITCHEN TOWARDS LADOWAL RHS(LUDHIANA-LADOWAL ROAD) ON SOUTHERN BYPASS ROAD	LUDHIANA	REGULAR	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO. 1 AND 3 ON MULLANPUR RAIKOT ROAD, SH13 WITHIN 2 KM RADIUS OF VERKA MILK PLANT IN SANGRUR WML. ON MINIMUM 60FT WIDE ROAD.	LUDHIANA SANGRUR	REGULAR REGULAR	110	SC Open	CFS DC	35 20	35 20	1225 400	32	0 55	Draw of Lots	0 15	3
	WITHIN 2 KM RADIOS OF VERKA MILK PLANT IN SANGROK WML, ON MINIMUM BUFT WIDE ROAD. WML LUDHIANA (WITHIN 2KM OF BANK OF INDIA, JAMALPUR AWANA BRANCH, TOWARDS BHAMIA) ON BHAMIA ROAD	LUDHIANA	REGULAR	165	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
503	LUDHIANAWML(WITHIN 3KM OF ELECTRICITY SUBSTATION FOCAL POINT PHASE 8 ON ANY ROAD(MINIMUM 60FT WIDE))	LUDHIANA	REGULAR	195	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
504	ANYWHERE IN LUDHIANA WML (ON MINIMUM 60 FEET WIDE ROAD)	LUDHIANA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	MOONAK WML EXCEPT ON NH-148B	SANGRUR	REGULAR	120	Open	DC	20	20	400	32	55	Draw of Lots	15	5
505	LLIDHIANA WANI (WITHIN 9VM OE SAMBAI A CHOWK TOWARDS SAMBAI A ON CHANDIC ARL ROAD)	LLIDHIANA	DECLII AD	150	OBC									
	LUDHIANA WML (WITHIN 8KM OF SAMRALA CHOWK TOWARDS SAMRALA ON CHANDIGARH ROAD) LUDHIANA WMLIWITHIN 5KM FROM SHRI VISHWANATH MANDIR IN FOCAL POINT ON ANY ROAD(MINIMUM 60FEET WIDE))	LUDHIANA LUDHIANA	REGULAR REGULAR	152 155	OBC Open	DC DC	30 20	30 20	900 400	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
505 506 507 508		LODITIVITAL	TILOOLIT	152 155 160	OBC Open Open						75 75		15 15 15	

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *		Finance to b	oe arranged pplicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
	ANYWHERE IN RAIKOT WITHIN MUNICIPAL LIMITS(ON MINIMUM 60 FEET WIDE ROAD)	LUDHIANA	REGULAR	110	OBC	CC	20	20	400	32	12	Bidding	30	4
511 512	LUDHIANA WML(LHS WHILE MOVING FROM DELHI TO JALANDHAR ON NH44) WITHIN 4KM FROM MEGA FOOD PARK TOWARDS LADOWAL ON RHS(LUDHIANA-LADOWALROAD) ON SOUTHERN BYPASS ROAD	LUDHIANA	REGULAR REGULAR	160 160	Open Open	DC DC	30 35	30 35	900 1225	32 32	75 95	Draw of Lots Draw of Lots	15 15	5
513	ON BHAWANIGARH -BALIAL ROAD, WITHIN BHAWANIGARH MUNICIPAL LIMITS	SANGRUR	REGULAR	130	SC	CFS	20	20	400	0	95	Draw of Lots	0	3
	WITHIN MUNICIPAL LIMITS OF JAGRAON(ON MINIMUM 60FEET WIDE ROAD)	LUDHIANA	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	IN B/W MOHANDAI OSWAL HOSPITAL & DHANDARI KALAN RAILWAY STATION ON NH44(LHS,JALANDHAR-DELHISTRETCH)	LUDHIANA	REGULAR	185	Open	DC	30	30	900	32	75	Draw of Lots	15	5
516 517	BETWEEN KM STONE NO. 14 AND 17 ON SH13(MULLANPUR RAIKOT ROAD) WITHIN 9KM OF PEHALWAN DHABA ON RHS WHILE TRAVELLING FROM JAGRAON TO LUDHIANA ON MOGA LUDHIANA ROAD	LUDHIANA LUDHIANA	REGULAR REGULAR	115 160	Open OBC	CC DC	35 35	35 35	1225 1225	32 32	12 95	Bidding Draw of Lots	30 15	5
518	WITHIN MUNICIPAL LIMITS OF KHANNA, RHS, WHILE MOVING FROM JALANDHAR TO DELHI ON NH -44 (OLD NH-1)	LUDHIANA	REGULAR	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
519	LUDHIANA WML(WITHIN 2KM OF SHRIRAM CHAND UPPAL MEMORIAL HOSPITAL TOWARDS RAHON)ON RHS(LDH-RAHON RD)	LUDHIANA	REGULAR	155	Open	DC	20	20	400	32	75	Draw of Lots	15	5
520	BETWEEN KM STONE NO. 512 TO 518 ON RHS WHILE TRAVELING TOWARDS DELHI FROM JALANDHAR ON NH44 WITHIN 12KM FROM CASA LA BARON RESORT(FEROZPUR ROAD) ON RHS TOWARDS MOGA ON LUDHIANA MOGA ROAD	LUDHIANA LUDHIANA	REGULAR REGULAR	165 155	Open OBC	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots	15 15	5
521		PATIALA	REGULAR REGULAR	155 150	SC	CFS	35 20	35 20	1225 400	32 0	95	Draw of Lots Draw of Lots	15	3
	ANYWHERE IN LUDHIANA WML (ON MINIMUM 60 FEET WIDE ROAD)	LUDHIANA	REGULAR	180	Open	DC	20	20	400	32	75	Draw of Lots	15	5
524	LUDHIANA WML(IN B/W MONTECARLO SHOWROOM & MOHANDAI OSWAL HOSPITAL ON LHS(FROM DELHI-LUDHIANA)ON NH44	LUDHIANA	REGULAR	180	Open	DC	30	30	900	32	75	Draw of Lots	15	5
525 526	ON LHS FROM JAIN MANDIR CHOWK TO GRAND WALK MALL ON 200 FEET BYPASS ROAD LUDHIANA WML(IN B/W MOHANDAI OSWAL HOSPITAL & SAMRALA CHOWK ON LHS(FROM DELHI-LUDHIANA)ON NH44	LUDHIANA LUDHIANA	REGULAR REGULAR	160 185	OBC Open	DC DC	20 30	20 30	400 900	32 32	75 75	Draw of Lots Draw of Lots	15 15	4 5
	PATIALA WML ON FACTORY AREA ROAD (BETWEEN CHANAN CHOWK AND RAJPURA ROAD)	PATIALA	REGULAR REGULAR	150	SC	CFS	20	20	400	32 0	/5 0	Draw of Lots Draw of Lots	0	3
	WITHIN 8KM FROM MALHI CASA(JAGRAON) ON LHS TOWARDS MOGA ON LUDHIANA MOGA ROAD	LUDHIANA	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
529	LUDHIANA WML(WITHIN 2KM TOWARDS NOORWALA FROM JD MATERNITY & GENERAL HOSPITAL ON LDH-NOORWALA ROAD)	LUDHIANA	REGULAR	155	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
530 531	RAIKOT WML ON RAIKOT TO BARNALA ROAD BETWEEN KM STONE NO 216 AND 212 ON NH-52 (LHS WHILE GOING FROM PATRAN TO SANGRUR)	LUDHIANA PATIALA	REGULAR REGULAR	105 150	Open SC	DC CFS	20 35	20 35	400 1225	32 0	55	Draw of Lots Draw of Lots	15 0	5
	BET WEEN NIGHT STORE NO 22D AND 21Z ON NR-32 (LES WITCHES GOING FROM FACIANT TO SANGDON) WITHIN AKM FROM MEGA FOOD PARK TOWARDS (LIDHIANA/RHS LADOWAL-LIDHIANA ROAD) ON SOUTHERN RYPASS ROAD	LUDHIANA	REGULAR REGULAR	225	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 4KM FROM MEGA FOOD PARK TOWARDS LADOWAL ON LHS(LUDHIANA-LADOWALROAD) ON SOUTHERN BYPASS ROAD	LUDHIANA	REGULAR	165	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
534	LUDHIANA WML(BETWEEN FOUNTAIN CHOWK AND SARDAR JEWELLERS ON FOUNTAIN CHOWK TO GHUMAR MANDI ROAD)	LUDHIANA	REGULAR	270	Open	DC	20	20	400	32	75	Draw of Lots	15	5
	RAIPURA WML ON NH-07 (FROM GAGAN CHOWK UPTO THE MUNICIPAL LIMITS OF RAIPURA TOWARDS BANUR) PATRAN WML ON SH-10 ON PATRAN, SAMANA ROAD (TOWARDS SAMANA FROM INTERSECTION OF SH-10 AND NH-52)	ΡΑΤΙΑΙΑ ΡΑΤΙΔΙ Δ	REGULAR REGULAR	160 130	SC OBC	CFS DC	30 20	30 20	900 400	0 32	0 75	Draw of Lots Draw of Lots	0 15	3 4
537	WITHIN 6KM FROM PANDORI NURSING HOME(MULLANPUR) ON LHS TOWARDS MOGA ON LUDHIANA MOGA ROAD	LUDHIANA	REGULAR	165	Open	CC	35	35	1225	32	12	Bidding	30	5
538	BETWEEN POLICE HQ SANGRUR & NH-7 INTERSECTION ON SANGRUR-BADRUKHAN MAIN ROAD, SANGRUR WML	SANGRUR	REGULAR	120	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
539	ANYWHERE IN LUDHIANA WML(ON MINIMUM 60 FEET WIDE ROAD)	LUDHIANA	REGULAR	180 150	OBC CC 1	DC	20	20 35	400	32	75	Draw of Lots	15	4
540	ON NH-7, WITHIN 4KMS OF RELIANCE PETROL PUMP, BADRUKHAN TOWARDS BARNALA (RHS SANGRUR-BARNALA ROAD)	SANGRUR LLIDHIANA	REGULAR REGULAR	210	SC CC 1 Open	CFS	35 20	20	1225	0 32	75	Draw of Lots	0 15	5
542	ON NH-52, WITHIN 3KM FROM HP PETROLPUMP-BANSAL HP CENTRE TOWARDS DIRBA, (LHS SANGRUR-PATRAN ROAD)	SANGRUR	REGULAR	155	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
543	WITHIN MUNICIPAL LIMITS OF SAHNEWAL, (ON MINIMUM 60 FT WIDE ROAD)	LUDHIANA	REGULAR	150	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
544	VILLAGE RAMGARH, TEHSIL LUDHIANA EAST, ON HITECH CYCLE VALLEY ROAD LIPTO 7 KMS TOWARDS NARHA FROM KM STONE NO 10 OF MDR. 32 ON PATIALA. NARHA ROAD	LUDHIANA PATIAI A	RURAL	80	Open	DC	35	35 35	1225	16 16	35 35	Draw of Lots	5	4
546	VILLAGE GULAHAR BLOCK -PATRAN	PATIALA	RURAL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
547	VILLAGE DHANANSU, TEHSIL LUDHIANA EAST,IN HITECH CYCLE VALLEY	LUDHIANA	RURAL	120	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	VILLAGE JAKHWALI, TEHSIL FATEHGARH SAHIB, ON PATIALA SIRHIND ROAD	FATEHGARH SAHIB	RURAL	110	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
550	ON CHEEKA ROAD (BETWEEN RAMNAGAR CHOWK AND GHAGGAR RIVER) VILLAGE GUNIA MAJRA, TEHSIL FATEHGARH SAHIB, ON PATIALA SIRHIND ROAD	PATIALA FATEHGARH SAHIR	RURAL RURAL	120 125	OBC Open	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	3
	VILLAGE-DAMAN HERI TEHSIL RAIPURA	PATIALA	RURAL	80	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
	WITHIN 6KM OF ALPINE PUBLIC SCHOOL, KAKARWAL-DHURI TOWARDS BARNALA ON DHURI-BARNALA ROAD	SANGRUR	RURAL	77	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
553 554	WITHIN 4KMS OF FRIENDS AGRO INDUSTRIES, MALERKOTLA TOWARDS AMARGARH, ON MALERKOTLA-NABHA ROAD	MALERKOTLA	RURAL	102	OBC CC 1	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	3
554	VILLAGE - DEHLON, TEHSIL LUDHIANA EAST (DEHLON), ON SAHNEWAL DELHON ROAD FROM KOHARA CHOWK TO NEW SWAN MULTITECH LIMITED, ON KOHARA MACCHIWADA ROAD	LUDHIANA LUDHIANA	RURAL	105 110	Open SC	CFS	35 35	35 35	1225	16 0	35	Draw of Lots Draw of Lots	0	2
556	ON SAMANA-BHAWANIGARH ROAD (FROM JATHEDAR BALOUR SINGH PUBLIC SCHOOL, BAMNA TO ANAZ MANDI SAMANA)	PATIALA	RURAL	120	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	FROM FLIPKART WAREHOUSE TO GK PETROLEUM (IOC PUMP) CANAL ROAD (DORAHA -LUDHIANA STRETCH)	LUDHIANA	RURAL	130	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
558	VILLAGE - PADDI, ON SAHNEWAL TO DEHLON ROAD, SUB TEHSIL DEHLON, DIST. LUDHIANA FROM SATI UI BRIDGE TO HARIAS PUBLIC SCHOOL ON RAHON MACHHIWADA ROAD (I HS RAHON -MACHHIWADA)	LUDHIANA	RURAL RURAL	125 130	Open OBC	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	4
560	WITHIN 2 KMS FROM HANSALI GURUDWARA SAHIB ON BADALI ALA SINGH - HANSALI ROAD	FATEHGARH SAHIB	RURAL	75	SC	CFS	35	35	1225	1b 0	35	Draw of Lots Draw of Lots	0	2
561	FROM D-MART TO ALCAZAR WEDDING RESORT ON SIRHIND ROAD ON LHS WHILE GOING FROM SIRHIND TO PATIALA	PATIALA	RURAL	120	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
562	LUDHIANA OML(WITHIN 3KM FROM PHULLANWAL CHOWK TOWARDS PAKHOWAL ON LUDHIANA- PAKHOWAL ROAD)	LUDHIANA	RURAL	130	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
563 564	VILLAGE SAUNDHA , TEHSIL FATEHGARH SAHIB , ON SIRHIND BHADSON ROAD. WITHIN 3 KMS OF GOVT ITI COLLEGE RASSIPATHANA. ON FATEHGARH - MORINDA ROAD.	FATEHGARH SAHIB	RURAL	90 110	OBC	CES	35 35	35 35	1225	16 0	35 0	Draw of Lots Draw of Lots	5	3
565	WITHIN 3 KMS OF GOVETTI COLLEGE BASSIPATHANA, ON FATEHGARH - MORINDA ROAD. VILLAGE HAMBRAN, TEHSIL LUDHIANA WEST ,DIST LUDHIANA ON HAMBRAN MULLANPUR ROAD	LUDHIANA	RURAL	80	Open	CC	35	35	1225	16	6	Bidding	10	4
566	WITHIN 3 KMS FROM ROHTI PUL TOWARDS PATIALA ON NABHA -PATIALA ROAD	PATIALA	RURAL	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
567	VILL SHAMSHERNAGAR, TEHSIL FATEHGARHSAHIB, ON ROAD CONNECTING SH12 A AND NH-44(PATIALA -BYEPASS ROAD)	FATEHGARH SAHIB	RURAL	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
568 569	VILLAGE -SHADIPUR ON BHUNARHERI -GHURAM ROAD TESHIL PATIALA VILLAGE GILL 1. TEHSIL LUDHIANA SOLITH ON 200 FOOT ROAD. DIST LUDHIANA	PATIALA LUDHIANA	RURAL	70 75	SC Open	CFS DC	35 35	35 35	1225 1225	0 16	0 35	Draw of Lots Draw of Lots	0 5	2
570	VILLAGE BAJRA, TEHSIL LUDHIANA SOOTH ON 200 FOOT ROAD, DIST LUDHIANA VILLAGE BAJRA, TEHSIL LUDHIANA EAST, DIST LUDHIANA	LUDHIANA	RURAL	125	Open	CC	35	35	1225	16	6	Bidding	10	4
571	WITHIN KM STONE 16-18 ON MDR 33(KHANNA- MALERKOTLA), LHS WHILE TRAVELLING FROM KHANNA TO MALERKOTLA	LUDHIANA	RURAL	110	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	WITHIN 4KM OF JAIN MANDIR CHOWK TOWARDS GILL ON 200 FOOT ROAD	LUDHIANA	RURAL	80	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	VILLAGE HALWARA 2 TEHSIL RAIKOT ON HALWARA TO PAKHOWAL ROAD VILLAGE RHOLAPUR TEHSIL SAHNEWAL DISTRICT LUDHIANA	LUDHIANA	RURAL	90	SC Open	CFS DC	35 35	35 35	1225	16	0 35	Draw of Lots	0	2
	VILLAGE - MALAKPUR, TEHSIL - KHANNA, ON KHANNA - KHERINAUD SINGH ROAD, DIST. LUDHIANA	LUDHIANA	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
576	WITHIN 4 KMS FROM AKAL ACADEMY BELBEHRA TOWARDS PATIALA ON PATIALA-KAITHAL ROAD	PATIALA	RURAL	90	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
577 578	WITHIN 5KM OF GURUDWARA SHRI GURU TEG BAHADUR SAHIB, LEHAL KALAN ON LEHAL KHURD -BALRAN ROAD LLIDHIANA OMI (WITHIN 5KM OF IOC PETROL PLIMP(SKG ALITO FLIFL) TOWARDS HAMBRAN. ON LLIDHIANA-HAMBRAN ROAD)	SANGRUR LUDHIANA	RURAL	85 140	SC PH OBC PH	CFS DC	35 35	35 35	1225	0 16	0 35	Draw of Lots Draw of Lots	0	2
579	LUDHIANA OML(WITHIN 5KM OF IOC PETROL PUMP(SKG AUTO FUEL) TOWARDS HAMBRAN. ON LUDHIANA-HAMBRAN ROAD) VILLAGE PAKHOWAL TEHSIL RAIKOT ON PAKHOWAL DEHLON ROAD.	LUDHIANA	RURAL	140	OBC PH Open	DC	35	35 35	1225	16 16	35 35	Draw of Lots Draw of Lots	5	3 4
272	WITHIN 3KM OF STATE BANK OF INDIA SIDHWAN BET ON JAGRAON NAKODAR ROAD	LUDHIANA	RURAL	90	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
581	VILL. RAIDHARANA, TEHSIL: LEHRAGAGA (ON LEHRAGAGA- PATRAN ROAD)	SANGRUR	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
582	WITHIN KM STONE 13-15 ON MDR 33(KHANNA- MALERKOTLA),RHS WHILE TRAVELLING FROM KHANNA TO MALERKOTLA	LUDHIANA	RURAL	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

5	l. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	,	Finance to by the a	be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
	1	2	3	4	5	6	7		8		9a	9b	10	11	12
				Regular / Rural	MS+HSD in KLs	SC	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs.	required for developm ent of	Draw of Lots / Bidding		
	583	VILL. JAKHEPAL, TEHSIL- SUNAM, ON JAKHEPAL-SUNAM ROAD TOWARDS SUNAM FROM JAKHEPAL	SANGRUR	RURAL	80	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	584	VILL. SAHOKE (ON SAHOKE-DHADRIAN ROAD), TEHSIL -SANGRUR, DISTT. SANGRUR	SANGRUR	RURAL	65	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
Г	585	ON SAMANA ROAD (BETWEEN ST. LAWRENCE ENGLISH SCHOOL, SAMANA AND RAMNAGAR CHOWK)	PATIALA	RURAL	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details.

The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.petrolpumpdealerchayan.in) and can be downloaded free of cost. APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

							Applicati
			Application Fee in	Type of	Type of		on Fee in
Type of RO	Type of Site	Category	Rs.	RO	Site	Category	Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular Ros	CC	Open	10000	Rural Ros	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above. The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter. This is only a notice inviting application for allottenent of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dalilies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Distt Covered	Address	Contact no
	Amritsar		
	Gurdaspur		
	Jalandhar		
	Kapurthala	Territory Co-ordinator(Retail)	
	Hoshiarpur	,Bharat Petroleum	0181-2420825 /
Jalandhar	Pathankot	Corporation Ltd. , Suchi Pind,	9717677826
	Roopnagar	lalandhar - 144009	3/1/0//020
	SAS Nagar	Jalandhar - 144009	
	SBS Nagar		
	Taran Taran		
	Chandigarh		
	Bathinda		
	Firozpur		
	Mansa	Territory Co-	
Bathinda	Barnala	ordinator(Retail)BPCL Depot,	9464469799
	Moga	Phoos Mandi,Near Jassi	3101103733
	Sri Muktsar Sahib	Chowk, Bathinda-151001	
	Fazilka		
	Faridkot		
	Sangrur		
	Malerkotla	Territory Coordinator (Retai)I,	7340751900.
Sangrur	Patiala	BPCL Depot, Jind Road,	7869911139
	Ludhiana	Sangrur - 148001, Punjab	,003311133
	Fatehgarh Sahib		